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Question Number : 1 Question Id : 103435607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the following term in the sequence?

PEL, REJ, TEH, VEF, ?
Options :
1. ¥ NEP
2. % NPE
3. ¥ XED
4. % DEX



Question Number : 1 Question Id : 103435607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 shd | fAgferRad ug | g 2

PEL, REJ, TEH, VEF,  ?
Options :
1. % NEP
2. % NPE
3. ¥ XED
4. % DEX

Question Number : 2 Question Id : 103435608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % School

2. ® College
3. ¥ Students
4. % University

Question Number : 2 Question Id : 103435608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl 7 @ & T AT ai% I UM &1 gTiiey, U [Ahed 370 A9 &1 aRE 81 8| 39 A ey &1 T &3 i 370 T 3cT g |
Options :

1. % faemeg

2. % HEIeTery

3. ¥ 3

4. * fayfaerey




Question Number : 3 Question Id : 103435609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Metres
2. # Yards
3. # Miles
4. % Grams

Question Number : 3 Question Id : 103435609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau e fywedt & § It fAfd a8 @ g 81 gTaiifes, T fdshey 3 ofiF o1 avg 7181 8| 3 fddhed &1 9a- &3 o 3 e g

Options :

Question Number : 4 Question Id : 103435610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Covid-19 : Virus :: Cholera : ?
Options :

1. ® Virus

2. % Fungi

3. #* Protozoa



4. ¥ Bacteria

Question Number : 4 Question Id : 103435610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § For TR | g¥R1 S Ugd Ue § Yefid g
W-N:W::%Gﬂ:?

Options :

1. # dIIRY
2. % dhddh
3. % TSiiqu
4. ¢ SiiaIY]

Question Number : 5 Question Id : 103435611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Car : Steering :: Boat : ?
Options :

1. # Iron Handle

2. % QOar

3. % Wheels

4. % Fuel

Question Number : 5 Question Id : 103435611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [dored &1 999 B S el UE I I UHR ¥ Aa&fd ¢ o UHR ¥ gkl UE Ugd U & Hafdd g
PR: WIGNAT :: F1d: 2

Options :




1. % Ag PIesd
2. ¢ UdaR
3. % Ufgy

4. % 3¢

Question Number : 6 Question Id : 103435612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain language,

she is sad is written as mer veq suk;

both are happy is written as chi fir nom;

sad and happy both is written as nom fir mer nup;

What is 'and' written as?
Options :

1. ® mer

2. % nup

3. % fir

4. % nom

Question Number : 6 Question Id : 103435612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ffgd Hw 7,

she is sad BT mer veq suk & ¥U H forar T %;

both are happy I chi fir nom & = H ferdT T %;

sad and happy 1 nom fir mer nup & =u I forar man %;

'and’ﬁﬁmwg‘?
Options :

1. ¥ mer

2. % nup

3. % fir



4. % nom

Question Number : 7 Question Id : 103435613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, JAPANESE may be written as AJAPENES, then MALYALAM may be written as
Options :

1. ¥ AMYLLAMA

2. % LAMLAYMA

3. ¥ AMLAYLMA

4. ¥ LAMMALAY

Question Number : 7 Question Id : 103435613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (Af3d HIS H, JAPANESE &1 AJAPENES & U # foral S Iehdl 8, bR MALYALAM &) forar ST Oehdl 3-
Options :

1. ¥ AMYLLAMA

2. % LAMLAYMA

3. ¥ AMLAYLMA

4. % LAMMALAY

Question Number : 8 Question Id : 103435614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing towards a woman, a man said “she is the only daughter of my father's father's only son.” Which of the statement is definitely true?
Options :

1. ¥ She is the sister of that man

2. ® She is the cousin sister (father’s brother’s daughter) of that man

3. % She is the Daughter of that man

4. % She is the daughter of that man’s sister



Question Number : 8 Question Id : 103435614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AR BT 3R SIRT A T, U Hfad - Fal, "I TR a1a1 & FHald U Bt gaard! i g 1" BIF AT Hy- Fid w0 3 9 g2
Options :

1. ¢ 98 39 oafe] bl S8 2

2. % 95 39 i B! Iokl 95 (TUaT & Wi D1 ) 3

3. % GEIT A PIEHR

4. % 98 39 Hfad &1 981 B A1 §

Question Number : 9 Question Id : 103435615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A quiz competition was organised in a school including six subjects, of which only three had to be selected under the following conditions:

1. One who selects Science had to select Mathematics also and vice versa.
2. One who selects Science cannot select Social Sciences.
3. One who selects English or Hindi cannot select Arts.

If a student selects Arts as one of the subjects, then the other two subjects can be:
Options :

1. # Social Sciences, English

2. ¥ Science, Mathematics

3. # Mathematics, Hindi

4. # English, Mathematics

Question Number : 9 Question Id : 103435615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g fag, St
2. ¢ fagm, Tifora

3. % Tforq, fdl

4. % 3fUSh, TIOG

Question Number : 10 Question Id : 103435616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, an assertion is given, followed by a reason. You have to decide whether the assertion is true, reason is true or both
are true and if the reason is the correct explanation of the assertion.

Assertion - Music therapy may be used to refine motor skills in the person and disease like Alzheimer .
Reason - In Alzheimer there is increase in memory which disrupts daily tasks.

Options :

1. ¥ Assertion is true, reason is false

2. % Assertion is false, reason is true

3. % Both assertion and reason are true, reason is the correct explanation of the assertion

4. ¥ Both assertion and reason are true, reason is not the correct explanation of the assertion

Question Number : 10 Question Id : 103435616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR feu T Uy A, U Sifiemym faar T 8, 39 §1C U HRUI AT T § | 3T I8 T BT & b T 3ifihy= I §, PR I g AT
3 9T g 3R Tfe BRI, fHHUT B el TR 8l
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Options :

1. ¢ JYHYT T §, HRU 3 8




2. % AYHYT T g, PRUITA &
3. % JMUBHYT 3R HRUIGHI I 8, PRUT HY D1 Jg! AT &
4. % AfYHYT 3R BRI I I 8, PRUI HUF P! Tl RS Tal &

Question Number : 11 Question Id : 103435617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, a statement is given, followed by two assumptions I and II. You have to consider the statement to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given assumptions, if any, is implicit in the given
statement.

Statement - Vitamin C and Zinc tablets are suggested to Covid-19 patients to increase immunity.
Assumption I - Vitamin C is effective as a medicine only when combined with zinc.
Assumption II - Covid-19 patients are short of some essential nutrients.

Options :

1. # Only assumption I is implicit

2. % Only assumption II is implicit

3. % Either assumption I or assumption II is implicit

4. % Both assumption I and II are implicit

Question Number : 11 Question Id : 103435617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|. % haq yron 1 Az §

2. ¢ Pad YR 11 g §

3. % T YR 1 3R 7 8 g 1 Afgd 8




4. % YRUTT R 112 g &

Question Number : 12 Question Id : 103435618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

7:119::18:7?
Options :
1. % 288
2. ¥ 306
3. % 144
4. % 342

Question Number : 12 Question Id : 103435618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed T 997 B S ik UG ¥ 341 UHR ¥ Yafdd g fo JhR ¥ 3R UG Ugd Ug ¥ Hafed g

7:119::18:7?
Options :
1. # 288
2. ¥ 306
3. % 144
4. % 342

Question Number : 13 Question Id : 103435619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the wrong term in the series.

24, 60, 210, 946, 5197.5
Options :



1. ® 5197.5
2. % 60
3. ¥ 946
4. % 24

Question Number : 13 Question Id : 103435619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el | Teld U DI Ugd H-

24,60, 210, 946, 5197.5

Options :

1. % 5197.5

2. % 60

3.9 946

4. % 24

Question Number : 14 Question Id : 103435620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the Venn diagram which best represents the relationship between:

Diseases (D), Ebola (E), Covid-19 (C)
Options :



Question Number : 14 Question Id : 103435620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 3R BT I B3 Sl (Y & S & oY Bl oo 33T il 8

T (D), ZAIT (E), PIfds-19 (C)
Options :




4. v



Question Number : 15 Question Id : 103435621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Viba is walking towards north to fetch wood. She turns 90 degrees left to avoid a swamp, she walks a 100 m and turns south towards a woody
area. Shen then picks some fallen sticks and turns around (180 degrees) and starts walking. In which direction is she walking now?

Options :
1. % East
2. % West
3. % North
4. ® South

Question Number : 15 Question Id : 103435621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT depel A & 7T TR BT 3R o7 W61 | 98 Saad O g9 & 11T 90 TS a0 3R gt ©, 98 100 m Taid & 3R fdior &t 3R Siedt
& @ 3R gt 5 | o a8 $ R g8 aofsdl & I3Td & SR (180 f33) T B SR I = &t o | 319 98 forw fomnm & 7 61 /2
Options :

1. % gd

2. % Ufgy

3. ¥ 3T}

4. % g

Question Number : 16 Question Id : 103435622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man is facing South. He turns 90 degrees in the anticlockwise direction and then turn 45 degrees in the same direction and then 315 degrees in
the clockwise direction. Which direction is he facing now?

Options :

1. ¥ North

2. # South-East
3. % South-West
4. ¥ East



Question Number : 16 Question Id : 103435622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U KT BT 4 GHaf0T BT 3R g1 I8 90 U ararad faxn & gedi ¢ 3R fthr I faxn # 45 fS30  gear 3 ok R aféomad = # 315
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Options :

1. % 3

2. % Gfaurgd
3. % cfemrufgy
4. % 7d

Question Number : 17 Question Id : 103435623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure would complete the question figure?

Options :



Question Number : 17 Question Id : 103435623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR ATHIA U 3MHT B R B



Options :

1. #®



Question Number : 18 Question Id : 103435624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :



Question Number : 18 Question Id : 103435624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu e faeedl 7 @ & te g % I gHM &1 gTife, T [Awed 30 9 o1 e 781 &1 39 A ey &1 T &3 oY 370 T 3(cT g |

Options :



Question Number : 19 Question Id : 103435625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following correctly represents the exact Mirror image of this question figure?



Options :



3.¢

Question Number : 19 Question Id : 103435625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffad o @ ®1F 39 9% 31pia & Teis U 3fa o1 w8t ufafAfia Harg?




Options :



Question Number : 20 Question Id : 103435626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Write the maximum number of triangles in the following figure?

Options :
1. ¥ 33
2. % 28
3. % 21
4. % 26

Question Number : 20 Question Id : 103435626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferiRad siepfa & Bye o sifdedn T ford?



Options :
1. ¥ 33
2. % 28
3. % 21
4. % 26

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :

General Awareness

2
10343532
0

0

No

No

0
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No

General Awareness
10343532
1
Online
Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343538
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 103435627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The lion capital (lion head) of emperor Ashoka was discovered in which of the following places?
Options :

1. * Ayodhya

2. ¥ Varanasi

3. * Rajgir

4. # Patliputra

Question Number : 21 Question Id : 103435627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUe 3= F1 Rigagye WRRIY R &1 RR) FHafafed 3 9 forg ®iM R @i @ o

Options :

1. % e
2.« RIS
3. % IR
4. % Ureferga

Question Number : 22 Question Id : 103435628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Discovery of pre-historic rock paintings, one of the first discoveries in the world, was made in India by an Archaeologist,




Archibald Carlleyle.
Options :

1. ¥ 1865-1866

2. % 1920-1921

3. ¥ 18671868

4. % 1921-1922

Question Number : 22 Question Id : 103435628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gd-uUfaeTiie Rial REeR! & @i, gHar 1 uge @ioll # 9 U, HRd d o RIAAdg, TEaTeE Hlasd gRI P18 |
Options :

1. % 1865-1866

2. % 1920-1921

3. ¥ 18671868

4. % 1921-1922

Question Number : 23 Question Id : 103435629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is per capita Income?

Options :

1. ¥ Ratio of national income over population
2. % Total Income of the year

3. # Total productivity of the year

4. % Productivity per person in a year

Question Number : 23 Question Id : 103435629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yfa o 3 &1 82

Options :



1. ¢ SIFTERET AT 3117 BT ST
2. % 98 B Hd A

3. % 99 D Hd IdTGHAl

4. % U@ qy § yfd Afad Sarghdl

Question Number : 24 Question Id : 103435630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, as per the 2011 census, the share of workforce engaged in the agriculture sector (comprising of cultivators and agricultural labourers)
has come down to in 2011.

Options :

1. % 34.6 percent
2. ® 44.6 percent
3. # 64.6 percent
4. ¥ 54.6 percent

Question Number : 24 Question Id : 103435630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬂ?‘dﬁ, 2011 P STIUAT & AR, FY &F (B 3R Wiex AoigRl & ) & o wriad &1 12011 HHAGH I
|

Options :

1. % 34.6 Ufa=rd

2. % 44 6 Yfa=d

3. % 64.6 Ufa=Id

4. ¥ 54.6 UfaRTd

Question Number : 25 Question Id : 103435631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The maximum density of water occurs at
Options :



1. ¥ 4°C
2. % 0°C
3. % -5°C
4. % 100°C

Question Number : 25 Question Id : 103435631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U &1 P aH g9d e gl
Options :

1. ¥ 4°C

2. % 0°C

3. % -5°C

4. % 100°C

Question Number : 26 Question Id : 103435632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The out of a typical photosynthesis reaction where oxygen and carbon dioxide are combined is

Options :
1. #* protein
2. ¥ glucose

3. # starch

4. * hydrogen carbonates

Question Number : 26 Question Id : 103435632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfRIy UHTRI-HRayu yfafshar 9 aTex oigt SHTRioM 3R FHleH SRiRIEs ¥gad 8id &, a8 gl

Options :

1. % OdE



2. ¥ DI
3. % W

4. % GISSIoH HIEMC

Question Number : 27 Question Id : 103435633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following country is now a Carbon negative country?
Options :

1. # Nepal

2. # Finland

3. ¥ Norway

4. ¥ Bhutan

Question Number : 27 Question Id : 103435633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrofaRed B S & 91 < 316 FHTeH BUTHAS ST 87
Options :

1. % qUrd

2. % fihcis

3. % Hid

4. % YA

Question Number : 28 Question Id : 103435634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
All of the following countries lie between India and Vietnam, except

Options :
1. ¥ Myanmar
2. # Thailand



3. # Cambodia
4. ¥ Malaysia

Question Number : 28 Question Id : 103435634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed wf 3xr YR o faadm & o9 R 8, Ram
Options :

1. # ”HR

2. % YAV

3. % HHEISl

4. HARAT

Question Number : 29 Question Id : 103435635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following, which has the lowest density of population?
Options :

1. ¥ Oceania

2. % Asia

3. ® Northern America

4. ¥ Europe

Question Number : 29 Question Id : 103435635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefad & 3, f5T &) S B g a9 HH 82
Options :

1. ¢ SR

2. % TREI

3. % IRl 3ARBT




4. % RY

Question Number : 30 Question Id : 103435636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the battle of Plassey take place?
Options :
1. % 1857
2. % 1600
3. % 1756
4. 1757

Question Number : 30 Question Id : 103435636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT BT g el G U2

Options :

1. % 1857

2. % 1600

3. % 1756

4. 1757

Question Number : 31 Question Id : 103435637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the last Mughal Ruler of India?
Options :

1. ¥ Bahadur Shah Zafar

2. % Qutb al-Din Aibak

3. % Aurangzeb

4. # Shah Jahan



Question Number : 31 Question Id : 103435637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR 1 3ifoH Te ArH DI U1
Options :

1. ¢ dglgr RITg St

2. % Hqd 3l-dH qeh

3. % IO

4. % Mg TG

Question Number : 32 Question Id : 103435638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following from the Indus Valley sites is presently in Pakistan?
Options :

1. % Ropar

2. ¥ Harappa

3. ¥ Alamgir Pur

4. % Dholavira

Question Number : 32 Question Id : 103435638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e aret wat & § Fafafed § @ oF W adq= | ufew= # 82
Options :

1. %30S

2. ¥ gaul

3. % AR R

4. % YIITART

Question Number : 33 Question Id : 103435639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Harappans worked with all of the following metals, except

Options :
1. ¥ Iron
2. % Copper
3. % Gold

4. * Bronze

Question Number : 33 Question Id : 103435639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gswWl & T fafaRaa auft urgsii & Iy s oHvd 3, Rar
Options :

1. ¢ Qg

2. % dH

3. % YAl

4. % BT

Question Number : 34 Question Id : 103435640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the award for contribution to the country's unity and integrity?
Options :

1. # Dronacharya Award

2. # Padma Awards

3. % Bharat Ratna

4. ¥ Sardar Patel National Unity Award

Question Number : 34 Question Id : 103435640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



S D! THAT 3R ST & AN & Y ST T aTel [RIBR &1 -1 14 82
Options :

1. * ZIUTE RER

2. % U5 RN

3. % YRAA

4. ¥ YCR U AP Ubdl DR

Question Number : 35 Question Id : 103435641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The book "Exam Warriors" is written by
Options :

1. # A.P.J. Abdul Kalam

2. # Pandit Jawaharlal Nehru

3. % Narendra Modi

4. % Atal Bihari Vajpayee

Question Number : 35 Question Id : 103435641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QA "W AR gRT ferdt S g
Options :

1. % T UL S, 3fegd Ha™

2. % UfEd SdTevdd 18

3. ¢ g A

4. % 3fcd fSgRY areudt

Question Number : 36 Question Id : 103435642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Indian Constitution was adopted by the Constituent Assembly on




Options :

1. ¥ 26 November, 1949
2. % 24 November, 1948
3. % 25 November, 1949
4. ¥ 26 January, 1950

Question Number : 36 Question Id : 103435642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRAT G4 I WfAu- GUTgRT bl 3O T AT
Options :

1. ¢ 26 AR, 1949

2. % 24 9deR, 1948

3. % 259deR, 1949

4. % 26 SR, 1950

Question Number : 37 Question Id : 103435643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which political party was the second largest party in terms of seats won in the first general election of India held in 1951-52?
Options :

1. * Socialist Party

2. ¥ Communist Party of India

3. ¥ Bharatiya Jana Sangh

4. % Indian National Lok Dal

Question Number : 37 Question Id : 103435643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1951-52 7 §U HRT & UGS 3H G H Siicll 718 Tiel & oy T DI I Ao uref gan! gay e urel ot

Options :




1. % grrfere urdf
2. ¥ YR SR Uref
3. % YRAIT S99
4. % ST IRAE Abed

Question Number : 38 Question Id : 103435644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which country was Indian Premier League(IPL) 2020 held?
Options :

1. # England

2. # Sri Lanka

3. % Malaysia

4. ¥ United Arab Emirates (UAE)

Question Number : 38 Question Id : 103435644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopa <=1 A Sfea= WiftaR @1 (1PL) 2020 MRS fovam Tm U
Options :

1. % IS

2. % giciehT

3. % HAREA

4. ¢ G 3R HRTT

Question Number : 39 Question Id : 103435645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following received the Rajiv Gandhi Khel Ratna Award 2020?
Options :

1. % Mary Kom



2. * Saina Nehwal
3. ¥ Rohit Sharma
4. % Virat Kohli

Question Number : 39 Question Id : 103435645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 ford rotia et Wd Xd TRIBR 2020 T G312
Options :

1. % TR By

2. % HgT dgard

3. ¢ JAfga <t

4. % fR1e Piga

Question Number : 40 Question Id : 103435646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Indian States is going to host 'Khelo India Youth Games 2021'?
Options :

1. ¥ Haryana

2. % QOdisha

3. ® Maharashtra

4. % Goa

Question Number : 40 Question Id : 103435646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafied & ¥ & 91 URdIT o9 Qdl S78a1 Y T 2021 B ASTEH! B S 38T 82
Options :

1.« gIul

2. % 3fifswm



3. % AGRIY
4. % Tar

Arithmetic Ability

Group Number : 3

Group Id : 10343533
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 10343533
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343539
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 103435647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



When 0.64 is written in simplest form, the sum of the numerator and the denominator is :
Options :

1. % 48

2. % 32

3. ¥ 4]

4. % 52

Question Number : 41 Question Id : 103435647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS 0.64 1 TRATH =Y H foram SI7d 7, f 3127 3R g BT AT BIdl o
Options :

1. % 48

2. % 32

3.9 4]

4. % 52

Question Number : 42 Question Id : 103435648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A merchant has three different types of milk - 336 litres, 240 litres and 96 litres. Find the minimum number of casks of equal size that can store
the milk without mixing.

Options :
1.¥ 14
2. % 38
3. % 24
4. % 18

Question Number : 42 Question Id : 103435648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP TR} & T I SIETT-31TH UBR & g8 8- 336 AT, 240 TreR 3R 96 e | YA ATHR & WY Pt gAdH TS J1d B3 off g8 DI




fo 1 AP fory U R T B
Options :

1.¥ 14

2. % 38

3.% 24

4. % 18

Question Number : 43 Question Id : 103435649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average of first 69 natural numbers is
Options :

1. % 375

2. % 37

3. % 325

4, % 35

Question Number : 43 Question Id : 103435649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYH 69 Wpidd Tasii &1 3id gl
Options :

1. ® 37.5

2. % 37

3. % 325

4, 35

Question Number : 44 Question Id : 103435650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much percent above the cost price should a shopkeeper mark his goods so that after allowing a discount of 20% on the marked price, he
gains 24%?



Options :
1. * 40%
2. % 60%
3. ¥ 55%
4. % 65%

Question Number : 44 Question Id : 103435650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tdh GHTFIGR B U 9% R ARTd Yoo Y fared=11 Ufc=rd 31 sifard o1 Afgu b Sifobd Ted UR 20% b1 e S &SI 34 24% Dl
AT 3fofd g1

Options :

1. % 40%

2. % 60%

3. ¥ 55%

4. % 65%

Question Number : 45 Question Id : 103435651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What percent of 7.5 litres is 150 ml?
Options :

1. # 3%

2.9 2%

3. % 5%

4. % 4%

Question Number : 45 Question Id : 103435651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7.5 TR o1 fba= ufa=rd 150 m1 82
Options :




1. % 39%
2.¢ 2%
3. % 59
4. % 49

Question Number : 46 Question Id : 103435652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the sales tax reduced from 7/2 % to 10/3%, then what difference does it make to a person who purchases an article with market price of Rs.
9600 ?

Options :

1. ¥ Rs 16
2. % Rs 12
3. * Rs 15
4. % Rs 24

Question Number : 46 Question Id : 103435652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%r%%ﬁmwz%ﬁw10/3%W%mw%,?ﬁww%$ﬁmwW@ﬂﬁ@ﬁﬁ%oo%ﬂﬁ%&ﬂﬁﬁ@%ﬁqm
R

Options :

1. ¥ 16 3T

2. % 123UT

3. % 15%4U

4. % 243UY

Question Number : 47 Question Id : 103435653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A book was sold for Rs 30 with a profit of 20%. If it were sold for Rs. 25.75, then what would have been percentage of profit or loss ?
Options :



1. * 2% Profit
2. ¥ 3% Profit
3. % 2% Loss
4. % 3% Loss

Question Number : 47 Question Id : 103435653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TP Bl 20% o 1Y b 1Y 30 BUT H o1 77 47| IS 3 25.75 TUT T <1 741 BidlT, <l A1 1 1 1 Ufa=rd favc=1 38T g2
Options :

1. % 2% o4

2.9 3% <Y

3. % 2%

4. % 3% I

Question Number : 48 Question Id : 103435654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A merchant bought 60 kg of wheat at Rs.12.50 per kg and 25 kg at Rs. 15.10 per kg. He mixed them together. At what rate (in Rs/kg) should he
sell the mixture to return to earn 10% profit?

Options :
1. ® 13.85
2.9 14.59
3. % 15.65
4. % 17.35

Question Number : 48 Question Id : 103435654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HTART A 12.50 $UU U kg BT & T 60 kg Tg 3R 15. IOWDﬁTkgHﬁET@fzs kg TTE WRIC | 39 36 oo o T3 fwaml 109% @
3T B & forg I 01 &1 fohd a¥ R (FUW/kg H) ST

Options :



1. #® 13.85
2.¥14.59
3. ¥ 15.65
4. % 17.35

Question Number : 49 Question Id : 103435655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound ratio of 8 : 7, 11 : 10,35 : 21 is
Options :

1. % 14:33

2. % 12:32

3.9 44 : 21

4. % 32:12

Question Number : 49 Question Id : 103435655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8:7,11: 10,35 : 21 BT AT SIATT g
Options :

1. % 14:33

2. % 12:32

3.9 44 .21

4, % 32:12

Question Number : 50 Question Id : 103435656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K 2 -3
Divide Rs.299 into three parts proportional to the fractions 3’ 3 7 then the first partis

Options :



1. ® 96
2.9 78
3. % 64
4. % 102

Question Number : 50 Question Id : 103435656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

299 YU &l i % ; % & GHYTT i HET H fauTford &< d ggar HrT BT
Options :
1. % 96
2.% 78
3. % 64
4, % 102

Question Number : 51 Question Id : 103435657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what rate percent per annum will a sum of money doubles in 10 years in simple interest plan?
Options :

1. ¥ 10%

2. % 7.5%

3. % 12.5%

4. % 17.5%

Question Number : 51 Question Id : 103435657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATHRUT STST AT | Plg YHRTIRT, Hidas foram ufa=rd &1 &R ¥ 10 a8 § &I AT 81 STat?

Options :



1. ¥ 10%
2. % 7.5%
3. % 12.5%
4. % 17.5%

Question Number : 52 Question Id : 103435658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The difference between compound interest and simple interest on a certain sum at 9% per annum for 2 years is Rs 1215. Then sum is Rs

Options :

1. ¥ 150000
2. % 155000
3. % 160000
4. * 165000

Question Number : 52 Question Id : 103435658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS FAfa IR R ufd T 9% H1 G T 2 T & AN Ihgfes ST 3R WUR S & o9 BT 3R 1215 ST g |l A FUTR|
Options :

1. ¥ 150000

2. % 155000

3. % 160000

4. * 165000

Question Number : 53 Question Id : 103435659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travelled from the house to the office at the rate of 6 km/hr and walked back at the rate of 10 km/hr. What is his average speed?
Options :

1. ® 7.2 km/hr



2. % 7.5 km/hr
3. # 9.4 km/hr
4. % 8.5 km/hr

Question Number : 53 Question Id : 103435659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS i TR Y HIATAT 0B 6 km/hr BT I J AT HIAT § 3R 10 km/hr BT 71 J G0 IAD AT & | SBT3 7T T 62
Options :

1. * 7.2 km/hr

2. % 7.5 km/hr

3. * 9.4 km/hr

4. % 8.5 km/hr

Question Number : 54 Question Id : 103435660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what time Rahul will reach his office if he has started at 5:30 am and travels half the distance at a speed of 15 km/hr and the other half at a
speed of 25 km/hr by assuming the distance between his house and office is 150 km?

Options :

1. ¥ 1:30 pm
2. % 12:30 pm
3. % 1:00 pm
4. * 12:00 am

Question Number : 54 Question Id : 103435660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IEd 31U HAfed fa- oo UgenT afe 98 5:30 JaTe T Bl § 3R SMeft G 15 kmy/hr &1 T J T T & 3R gt Seft gt 25
km/hr @1 711 ¥ T BT §, T§ AHDBR (b SUP TR 3R AT & d DI el § 150 km 82
Options :

1. ¢ 1:30 IWTa




2. % 12:30 3RTG
3. % 1:00 ARG
4. % 12:00 Qdlg

Question Number : 55 Question Id : 103435661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 27 men working for 8 hours a day can complete a piece of work in 15 days, in how many days can 20 men do the same work working 9 hours a
day?

Options :

1. % 14

2. % 12

3. % 16

4.9 18

Question Number : 55 Question Id : 103435661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H%é%ﬁgrqﬁrﬁqsﬂ%quw&awwﬁﬁ151%??13@%%%,#[@@?9%@%, 20 Afed I & B! foam fei A QT
hY ?

Options :

1. = 14

2. % 12

3. % 16

4. v 18

Question Number : 56 Question Id : 103435662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B can do a piece of work in 15 days while B and C can do the same work in 12 days and C and A in 10 days. They all work for 5 days,
then B and C leave. How many days more will A take to finish the work?

Options :



1. 8
2.% 12
3.9
4. % 10

Question Number : 56 Question Id : 103435662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR BUS S & 15 a1 & R Tobd § Tafd B 3R ¢ I B 1 12 fa1 7 3R ¢ 3R A 10 o7 & = Tpa €1 3 9ot 5 i Ip oo
R4 e, B AR C BT LA B A B 1 [ A H fpaq o iR i

Options :

1. %8

2. % 12

3.¢¥9

4. % 10

Question Number : 57 Question Id : 103435663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diagonals of two squares are in the ratio of 3 : 5. Find the ratio of their areas?
Options :

1. % 6:25

2.9 9:25

3. % 27:125

4. % 9:15

Question Number : 57 Question Id : 103435663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& & faUl 3 : 5 % U H €| 370 Al & SUTd 1A B2
Options :

1. % 6:25




2.4 9:25
3. % 27:125
4. % 9:15

Question Number : 58 Question Id : 103435664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table given below shows total number of Candidates and percentage of males and females appears in an exam from different states.
The number of male candidates from Maharashtra is what percentage more than that of male candidates from West Bengal?

Skates Number of Percentage of Percentage of
candidates male candidates |female candidates
Maharashtra 60,000 60% 40%
Haryana 1,00,000 50% 50%
West Bengal 80,000 40% 60%
Gujarat 20,000 20% 80%
Rajasthan 1,40,000 14.28% 85.72%
Options :
1. % 13%
2.9 12.5%
3. % 16%
4. % 17%

Question Number : 58 Question Id : 103435664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T < 7S aiferent fafid ol I T wlien B Iufyd g a1 STHIGAR! B Hol TeAT SR guu! SR Afgarsit & Ufa=d & g g |
TERTY & 43y SHHIGaRY &1 T, Ui §71d & gy Seiieart & G § fra- ufaerd o 82

goq wfgen
I 3"“%“!"3& Iufigant &1 | sufigarst &1
wierera PIGEIG]
ERIP 60,000 60% 20%
m 1,00,000 S05% S05%
ufdmg dmra 80,000 0% 60%
ToRTa 20,000 20% BO%
EIGED IR 1,40,000 14.28% 85.72%
Options :
1. % 13%
2. % 12.5%
3. % 16%
4. % 17%

Question Number : 59 Question Id : 103435665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph given below shows the number of kisan credit card holder of three banks in four different states of India.
By what percent the number of kisan credit card holder of SBI in Gujarat is less than that of PNB in Punjab?



uSBI mPNB = BOB

Mumber of kisan credit card holder (in lakhs)

Rajasthan Punjab Gujarat Haryana
States

Options :
1. % 15%
2. % 30%
3. % 25%
4.9 20%

Question Number : 59 Question Id : 103435665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= T a1 IR U HIRA & IR SIe-3eT I8l H d19 Sl o [ha shige PIe YRD! bl T Bl ST B |
ToRTd H SBI & e $hf&c HTS YR ! o T Uold H PNB I T ufa=rd & 82
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Options :
1. % 15%
2. % 30%
3. % 25%
4.9 20%

Question Number : 60 Question Id : 103435666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The bar graph given below shows the time taken (in minutes) to complete a work by A, B, C, D and E.
If A, C and E work together, then find the time taken by them to complete the work.



Time taken (in minutes)
s

a0
40
20 -

20

20 15
N l
0

B c (]

Work by A, B,C,Dand E

Options :

1. ¥ 10 minutes
2. % 8 minutes
3. # 5 minutes

4. % 12 minutes

Question Number : 60 Question Id : 103435666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e T SR UMW A, B, C, D 3R E gRIU& &1 &I R HA | ol T 99 (FBFel #) & =iiar gl
g A, C 3R E U 1Y &1 3 8, Al S0 gRT BT 1 IR B B feran 7131 Jo J1d B |
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Options :

1.+ 10 fiAe
2. % g fie
3. % 5fiFe
4. % 121
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General English

Section Id : 10343534
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343540
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 103435667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

But no sooner had a man/ acquired a little power that/ the tyrant in him emerged.
Options :

1. * But no sooner had a man

2. ¥ acquired a little power that

3. % the tyrant in him emerged.

4. % No Error

Question Number : 61 Question Id : 103435667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

But no sooner had a man/ acquired a little power that/ the tyrant in him emerged.



Options :

1. # But no sooner had a man
2. ¥ acquired a little power that
3. % the tyrant in him emerged.
4. ¥ No Error

Question Number : 62 Question Id : 103435668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Flexible retirement age is being/ considered by Ministers to/ unify mens' and womens' pension rights.
Options :

1. ¥ A flexible retirement age is being

2. # considered by Ministers to

3. % unify mens' and womens' pension rights.

4. % No Error

Question Number : 62 Question Id : 103435668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Flexible retirement age is being/ considered by Ministers to/ unify mens' and womens' pension rights.
Options :

1. # A flexible retirement age is being

2. # considered by Ministers to

3. ¢ unify mens' and womens' pension rights.

4. % No Error

Question Number : 63 Question Id : 103435669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The segments are filmed using (neither local actors and neither the actual) people involved.
Options :

1. # neither local actors and or the actual

2. ¥ either local actors or the actual

3. % neither local actors and nor the actual

4. # No correction required

Question Number : 63 Question Id : 103435669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The segments are filmed using (neither local actors and neither the actual) people involved.
Options :

1. # neither local actors and or the actual

2. ¥ either local actors or the actual

3. # neither local actors and nor the actual

4. % No correction required

Question Number : 64 Question Id : 103435670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The old man has a good heart, (I have seen him do many an acts of kindness).
Options :

1. # I saw him do many acts of kindness



2. # I had seen him do many an acts of kindness
3. % [ have seen him do many an act of kindness

4. # No correction required

Question Number : 64 Question Id : 103435670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The old man has a good heart, (I have seen him do many an acts of kindness).
Options :

1. % I saw him do many acts of kindness

2. # T had seen him do many an acts of kindness

3. % I have seen him do many an act of kindness

4. # No correction required

Question Number : 65 Question Id : 103435671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

He produced reasons for the change of policy.

Options :

1. ¥ cogent
2. % diligent
3. # emergent

4. # plangent

Question Number : 65 Question Id : 103435671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



He produced reasons for the change of policy.

Options :

1. ¥ cogent
2. % diligent
3. # emergent

4. # plangent

Question Number : 66 Question Id : 103435672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

This celebration of the artist's life and work has colour prints of his work as well as a lively text.

Options :

1. # envious
2. # anxious
3. % copious

4. # captious

Question Number : 66 Question Id : 103435672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

This celebration of the artist's life and work has colour prints of his work as well as a lively text.

Options :

1. # envious
2. # anxious
3. % copious

4. % captious

Question Number : 67 Question Id : 103435673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The third point is

P. months during which

Q. to abscond in the four

R. applicant had opportunity
S. that the second

he was at liberty.

Options :

1. ¥ SRQP
2. % PQRS
3. % RQPS
4. % SPQR

Question Number : 67 Question Id : 103435673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The third point is

P. months during which

Q. to abscond in the four

R. applicant had opportunity
S. that the second

he was at liberty.

Options :

1. ¥ SRQP
2. % PQRS
3. ¥ RQPS
4. % SPQR



Question Number : 68 Question Id : 103435674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

After the death of Babur’s, his son, Humayun, took over ruling the Mughal Empire.

P. He returned to India in 1555 when his rival, Sher Shah Suri, died.

Q. Humayun fought to maintain the empire from 1530 to 1540 but, after war raged against one of his rivals, he was forced to turn to Persia for
refuge.

R. He held his position as emperor for another year and managed to take control of over 386,000 square miles.

S. When Humayun passed away, the empire was handed down to his son, Abu Akbar, who ruled from 1556 to 1605.

Akbar made it his mission to retake territory lost during his grandfather’s rule and when his reign ended, the Mughal Empire included most of
north, western, and central India.

Options :

1. * PSQR
2. ¥ QPRS
3. ®* QSPR
4. * RPQS

Question Number : 68 Question Id : 103435674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

After the death of Babur’s, his son, Humayun, took over ruling the Mughal Empire.

P. He returned to India in 1555 when his rival, Sher Shah Suri, died.

Q. Humayun fought to maintain the empire from 1530 to 1540 but, after war raged against one of his rivals, he was forced to turn to Persia for
refuge.

R. He held his position as emperor for another year and managed to take control of over 386,000 square miles.

S. When Humayun passed away, the empire was handed down to his son, Abu Akbar, who ruled from 1556 to 1605.

Akbar made it his mission to retake territory lost during his grandfather’s rule and when his reign ended, the Mughal Empire included most of
north, western, and central India.

Options :
1. ¥ PSQR
2. ¥ QPRS



3. % QSPR
4. % RPQS

Question Number : 69 Question Id : 103435675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

timid

Options :

1. # eloquent
2. ¥ confident

3. # chivalrous

4. % ambivalent

Question Number : 69 Question Id : 103435675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

timid

Options :

1. # eloquent
2. ¥ confident

3. #* chivalrous

4. % ambivalent

Question Number : 70 Question Id : 103435676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

temperance



Options :

1. # confuse

2. % rectify

3. % abnegation

4. % earnest

Question Number : 70 Question Id : 103435676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

temperance
Options :

1. # confuse

2. # rectify

3. % abnegation

4. * earnest

Question Number : 71 Question Id : 103435677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ nuance

2. # nuence

3. # nuece

4. % nuace

Question Number : 71 Question Id : 103435677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.



Options :

1. ¥ nuance
2. # nuence
3. # nuece

4. % nuace

Question Number : 72 Question Id : 103435678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ¥ prestine

2. % volatile

3. % probity

4, % ostentatious

Question Number : 72 Question Id : 103435678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ¥ prestine

2. # volatile

3. % probity

4, % ostentatious

Question Number : 73 Question Id : 103435679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A doubting Thomas



Options :

1. ¥ A skeptic who needs physical or personal evidence in order to believe something
2. #® Doing things quickly results in a poor ending

3. # Angry and overcome by emotions

4. ® Deteriorating and headed for complete disaster

Question Number : 73 Question Id : 103435679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A doubting Thomas

Options :

1. ¥ A skeptic who needs physical or personal evidence in order to believe something
2. # Doing things quickly results in a poor ending

3. # Angry and overcome by emotions

4. # Deteriorating and headed for complete disaster

Question Number : 74 Question Id : 103435680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Leave no stone unturned

Options :

1. ¥ Make all possible efforts

2. # A two person conflict where both people are at fault
3. # To be enraged and show it

4. ¥ From this time into the future

Question Number : 74 Question Id : 103435680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom

Leave no stone unturned

Options :

1. ¥ Make all possible efforts

2. % A two person conflict where both people are at fault
3. % To be enraged and show it

4. * From this time into the future

Question Number : 75 Question Id : 103435681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Mutual trust and friendship among people who spend a lot of time together
Options :

1. # Caucus

2. % Caravan

3. % Camaraderie

4, % Convent

Question Number : 75 Question Id : 103435681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Mutual trust and friendship among people who spend a lot of time together
Options :

1. # Caucus

2. ®% Caravan

3. % Camaraderie

4. ® Convent

Sub-Section Number : 2



Sub-Section Id : 10343541
Question Shuffling Allowed : Yes

Question Id : 103435682 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

When early humans hunted and gathered food, they were not in control of their environment. They could only interact with their surroundings as
lower organisms did. When humans learned to make fire, however, they became capable of altering their environment. To provide themselves
with fuel they stripped bark from trees, causing the trees to die. Clearings were burned in forests to increase the growth of grass and to provide a
greater grazing area for the wild animals that humans fed upon. This development led to farming and the domestication of animals. Fire also
provided the means for cooking plants which had previously been inedible. Only when the process of meeting the basic need for food reached a
certain level of sophistication was it possible for humans to follow other pursuits such as the founding of cities.

Sub questions

Question Number : 76 Question Id : 103435683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is stated in the passage that humans were able to change their environment when they
Options :

1. # learned agriculture

2. ¥ learned to make fire

3. # learned to make tools

4. % learned to walk on two feet

Question Number : 77 Question Id : 103435684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How did humans lead to farming and domestication of animals?
Options :

1. ¥ By creating a larger grazing area for animal through the use of fire.
2. # By stripping the barks of the trees.

3. % By planting more trees and increasing the ecological area.



4. ® By promoting growth of grass through plantation.

Question Number : 78 Question Id : 103435685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was used as the source of fuel to ignite fire by early humans?
Options :

1. # Friction sparks from rubbing rocks

2. ® Manure

3. #® Fossil Fuel

4. ¥ Tree barks

Question Number : 79 Question Id : 103435686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what was an important need that humans needed to overcome before they followed on with other pursuits like finding
cities?

Options :

1. # Fulfilling basic psychological needs
2. % Fulfilling basic need for safety

3. # Fulfilling basic need for shelter

4. ¥ Fulfilling basic need for food

Question Number : 80 Question Id : 103435687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # Fire provided the means for cooking plants which had previously been inedible.

2. # Early humans were not in control of their environment until they discovered fire.

3. % Humans used fossil fuels as their primary source of fuel to generate fire.

4. ® Humans burned clearings in the forest promoting growth of grass which finally led to development in farming and domestication of
animals.



Question Id : 103435682 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

When early humans hunted and gathered food, they were not in control of their environment. They could only interact with their surroundings as
lower organisms did. When humans learned to make fire, however, they became capable of altering their environment. To provide themselves
with fuel they stripped bark from trees, causing the trees to die. Clearings were burned in forests to increase the growth of grass and to provide a
greater grazing area for the wild animals that humans fed upon. This development led to farming and the domestication of animals. Fire also
provided the means for cooking plants which had previously been inedible. Only when the process of meeting the basic need for food reached a
certain level of sophistication was it possible for humans to follow other pursuits such as the founding of cities.

Sub questions

Question Number : 76 Question Id : 103435683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is stated in the passage that humans were able to change their environment when they
Options :

1. % learned agriculture

2. ¥ learned to make fire

3. % learned to make tools

4. % learned to walk on two feet

Question Number : 77 Question Id : 103435684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How did humans lead to farming and domestication of animals?
Options :

1. ¥ By creating a larger grazing area for animal through the use of fire.
2. % By stripping the barks of the trees.

3. # By planting more trees and increasing the ecological area.

4. ¥ By promoting growth of grass through plantation.



Question Number : 78 Question Id : 103435685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was used as the source of fuel to ignite fire by early humans?
Options :

1. # Friction sparks from rubbing rocks

2. ¥ Manure

3. % Fossil Fuel

4. ¥ Tree barks

Question Number : 79 Question Id : 103435686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what was an important need that humans needed to overcome before they followed on with other pursuits like finding
cities?

Options :

1. # Fulfilling basic psychological needs

2. # Fulfilling basic need for safety

3. % Fulfilling basic need for shelter

4. ¥ Fulfilling basic need for food

Question Number : 80 Question Id : 103435687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # Fire provided the means for cooking plants which had previously been inedible.

2. # Early humans were not in control of their environment until they discovered fire.

3. ¥ Humans used fossil fuels as their primary source of fuel to generate fire.

4. % Humans burned clearings in the forest promoting growth of grass which finally led to development in farming and domestication of
animals.



General Hindi

Group Number : 5

Group Id : 10343535

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi

Section Id : 10343535

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 10343542

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 103435688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy ¥ IR fowddl 7 @ 39 fawey &1 9g &3 ot fau 17U IfY - fowde Weg & Ul IfY &1 faweu 3|

S + A
Options :




1. * QAN
2. ¥ QMEAN
3. % QJMEAATG™
4. % JEAY

Question Number : 81 Question Id : 103435688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy IR fowddl 7 @ 39 fadwey &1 9g &3 ot fau 17U IfY - fowde Weg & Uel IfY &1 faweu 3|

S + AT
Options :

1. % BHEdNY
2. % SHEEAN
3. % SBHEATA™
4. % JEAH

Question Number : 82 Question Id : 103435689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy IR el 7 9 39 fasey &1 9a &3 o T 77U 2req; & I8! IfY - fawe Wsg ST fapeu 7 |

YUumH
Options :

1. ¥ U+HMH
2. % U+ TUMH
3.2 U+4H
4, % J+01H

Question Number : 82 Question Id : 103435689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafad vy IR ol 7 9 39 fashey &1 9a &3 o T 77U Tree & I8! IfY - fawe Usg ST fapeu 7 |

YUy
Options :

1. ¥ U+HMH
2. % U+ TUMH
3.2 U+4H
4. % J+UMH

Question Number : 83 Question Id : 103435690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRed Uy & TR fawedl § O 3 fadhed &1 I8 Hx ol T 2eg B el [dHed 1ol § |
Options :

1. % X

2. % Hgterd

3. % fasfud

4.« Alald

Question Number : 83 Question Id : 103435690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifad vy & aR el § A 39 b o1 98- B3 Sl YdY Ted &1 4e) fabed &1 2 |
Options :

1. % XY

2. ® HETitere

3. % fazmiua

4.« Hlald

Question Number : 84 Question Id : 103435691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faffad Uy o aR foswed! & T 39 fdewed &1 99 &< il faU T¢ Xea T &1 ol 31 a1l fdwed 71|

SRR - ™
Options :

1. ¢ Uy, 3flad
2. % 3, 3MMed
3. % U, =7
4. % OTg Hbd

Question Number : 84 Question Id : 103435691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaffad Uy & aR fowed! & T 39 fdewed &1 999 &< il faU TU Xeq T &1 el 3 a1 fdwed 71|

SR - ™
Options :

1. ¢ Ui, 3lad
2. % 3R, 3fTed
3. % U, =7
4. % UG Hopd

Question Number : 85 Question Id : 103435692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad uy & TR el 7 T 39 fadey &1 T oY ot fU U Weg &1 I} fadA T3 B |
EIRSN

Options :

1. # H[hR
2. % 3IASDHR
3. ¢ WIDHR




4. % TRIBR

Question Number : 85 Question Id : 103435692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied uy & IR el § O 39 fad ey &1 9a 63 off AU U Weg &1 el fIdH T3 3 |
EIRSIN

Options :

1. # H[hR
2. % 3IfASHR
3. ¥ WIDHR
4. % fRIER

Question Number : 86 Question Id : 103435693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa uy & TR fawedl § T 39 fawed &1 999 &3 ol Y s o1 gl [dbed g |
Options :

1. ® eI

2. ¥ TG

3. ¥ R

4. % YgUdR

Question Number : 86 Question Id : 103435693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiad vy o TR fawent § @ 39 faswey &1 T B3 Sl Y e &1 8! fadweu 7 |
Options :

1. % SHINTd

2. ¥ TG




3. % IR
4. % YSYAR

Question Number : 87 Question Id : 103435694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR ol 7 9 39 fashey &1 9a &3 o T 7T aremier & fofu Ueh 2ieq &1 98! fdweu 3 |
ool gfgarer

Options :

1. % TRRYfS

2. ¥ PRTES
3. % Tievrdlg

4. % qolgfa

Question Number : 87 Question Id : 103435694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea uy & TR fowedl § T 39 faswey &1 999 &3 ol foU 70 araaiwr & ol ue 2sg &1 96! fadweu 3 |
oSl gfgara

Options :

1. % RS

2. ¥ TR G
3. % dlevgfa

4. % qugfg

Question Number : 88 Question Id : 103435695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy IR el 7 9 39 fdehey &1 90 &3 ol 9¢d Thadd U &1 Jei f[dbed g |

Options :




1. % 3Bq
2. % {gP
3. % 30d
4. ¢ Y

Question Number : 88 Question Id : 103435695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy &, 9R fowddl 7 9 3 fadhed &1 999 3 ot e d Thadd U & Jet fdbed g |
Options :

1. ® g

2. % dgd

3. % Xd

4.9

Question Number : 89 Question Id : 103435696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied v & TR fawel # ¥ 39 fadhey &1 T B Sl Yad Wi BT U gl g |
Options :

1. % GHAR

2. ¢ THTCRH

3. % fg< HENR

4. % Uiqd

Question Number : 89 Question Id : 103435696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Froferiad vy & R el § ¥ 39 s &1 90 3% il 9ed WA ST FUIarg |
Options :

1. % THIR




2. ¢ THIGRN
3. % fg—< AR
4. % Uidq

Question Number : 90 Question Id : 103435697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffad uy & IR fowedl & T 39 fasey &1 w09 &9 St AT U 9190 & HTd & He &1 Ta! fdwe g |
T i TaHR AR E |

Options :

1. ¢ 3 EF Ydhld

2. % ™ qqqH BTd
3. % Y Hidwd ST
4. % Ul YdPb1a

Question Number : 90 Question Id : 103435697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa uy & TR fawedl § I 39 fdwed &1 999 3 o fAU T8 9199 & &1d & e &1 el fabed § |
Honfi Oaa A § |

Options :

1. ¥ 3T YJhTd

2. % ™ aqHH BT
3. % Y Yid=d HId
4. % quf yderd

Question Number : 91 Question Id : 103435698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofafad uy & IR fowedl § T 39 fadey &1 w09 &9 St AT U 9190 & We &1 Ug! faseu g |




ag gl Ht It § 981 od T S © |
Options :

1. % Hhddrad ared

2. % I I

3. ¢ Y I/

4. % ggad I

Question Number : 91 Question Id : 103435698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 9R fowddl 7 @ 39 fadwey &1 9g &3 oY AT 78 areg & U &1 98! fdweu 3 |

gg el Y 9Tt 8,987 3 [ a3 |
Options :

1. % Hbddrad are

2. % IRA I

3. ¢ Tl ar|

4. % IgId a1

Question Number : 92 Question Id : 103435699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafea oy o IR fawed! & 9 39 fdaed &1 99+ &< off fav™ fug gad aTed &1 gl b § |
Options :

1. % g " YITaHE DY, o3l §1d I 8 |

2. % O IIAT: " HGH B, IRl §1d T gl "

3. % Y " WA B R 1 I B |

4. G EE ;" HITGH DR, R §1d 9 8 |"

Question Number : 92 Question Id : 103435699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & TR fawed # O 39 fawed &1 9 &3 off fovm g god ared &1 el fawea g |
Options :

1. % G " YA B, R 910 I 87 |

2. % YA " YA Y, o 910 I 81 "

3. % §F QN " YT PR O3] o1 g 8l )"

4. H AT " WA DX, R I1d T B "

Question Number : 93 Question Id : 103435700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffea Uy & TR fawedl § O 3 fadmed &1 9 &1 off fov g gadt a1 &1 9e| fdeed § |
Options :

1. % ANTHEA § ;JH IS SHGYUM 8l ; 3HIAT TR IXJT Wil @il § |

2. % AT HEA & qH 9 @AY 81 , T TERT a¥gy Wil @il & |

3.V ARTHEA § , TH IS SGYTH 81, SHAT JRRRT a¥qU @It @1 6 |

4. % A HEA T, TH T IEYH 81 TR TR 7y Tl & &

Question Number : 93 Question Id : 103435700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied v & aR fodwenl o 9 39 fawed &1 70 & S favm g gad 9190 &1 9e] fdeed g |
Options :

1. % AN HEA T ;g0 I3 SRGYH 8 ; TMeTY el Iy Wil W@t § |

2. % AR HEd § qH 99 SIaYM 8, IUOE KT a%q¢ Wikl Xgdl § |

3. ¢ ARTHEd ¢, IH 99 MY 8, UOE JFeRT 3¢ Wikl Igdl § |

4. % AMHEA T, T0 9 AUTYH &) TURIT TRRY Ty Tl B &

Question Number : 94 Question Id : 103435701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafofaa oy & TR fawed # O 39 fawey &1 T 63 ot U U ek & wet o aran fawea g |

cIfeT 814 i -
Options :

1. ¢ 9gd 91 YIS g
2. % e AT

3. % S gd UM gl

4. ® QR

Question Number : 94 Question Id : 103435701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy & TR faweul # 9 39 fadhed &1 7= & 1 fou U geTark & Tel o ara faweu 7 |
QIR 1Y B -

Options :

1. ¢ 9gd 981 Y81I® g
2. % e STl

3. % §gd YU gl

4. ® GRS

Question Number : 95 Question Id : 103435702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy § ,9R fowddl 7 9 39 fasey &1 9a 3 off AT U aeifaa & Tgt 31 aren fasweu 3 |

T3 A3 §19 BT A8l

Options :

1. % TU9Y 919 QR DR 8 HTHT HAT
2. % T Al I T@ 1

3. ¢ T AMS B R B & (AT 3oNd HTH BT




4. ® 9% gogd TeRf & fawg # 9gd &9 S ¢

Question Number : 95 Question Id : 103435702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy § IR ol 7 9 39 fasey &1 9a- &3 off foT 71U Aeifaa & gt 31 aren fdweu 3 |
s A3 919 BT gl

Options :

|, % -0 91d QR DR B U DAl

2. % T fGd BT TG T

3. ¢ T XD B R B b (O1T 3o HTH HAT
4. % 7% goe o=l & favg # 9gd &Y o B

Sub-Section Number : 2
Sub-Section Id : 10343543
Question Shuffling Allowed : Yes

Question Id : 103435703 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

) fau 7TU e Y earYdes Ug SR U 7Y Ul T gataH SR I |

T IR I TR I & Jad B o oIE SUDIR bt o1l § , 91 Feifdredt wgardr § | s orf o it aRg &1 SuaR fifdreat dgardr g
3R g Fafre 3R TS & a1 ®1% Yoob T B (9T & St & <l 98 MRIed b Hdldl & SHH iad Bl 30T 3R Y PIg Y[ed
31T T8l HRAT 81T & 3R ITH IUb WY DI I&fT 3R ITb I T AR BT § | SRUATe S gard 3iR SaTol BRId dad §gd HH qrl
&I a1 & o Yo R & $3 GRS TR 3R SRexade arll &l U g | TRIS AN o ol TRBR A T IS SIRI 1 §
fored @18 off TG TRIST 39T Yo SATST HRal Uohdl § I8 e T HIE Bt avth J ORI g3 § Forad TRBHR gRT SHIA Ah SRUdrd
I TR UISdT SRUATAl &I TRId ARSI &I a9 Pic & dgd Gud SATl BT g 8IS DI gRI S8 115 U AN-Cd] HHCl & d8d 39
IRBRT AT I IBR [T 7Y RIS TSl o7 Urgae sRudral # e fofdre & Smeeh T 40 UTgde SRUard g o R JuiH &1 7 78
&= o foru & 8k I8 =T 2007 # foU 7T e & dgd B

Sub questions

Question Number : 96 Question Id : 103435704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3Te & 3R [ Yew fafre fed wea § 2
Options :

1. % Qoo G Aol DR Dl

2. ¢ ToH1 Yoo AT TSl R &l

3. % IS Y Yeb B 3R AT 81 ST

4. % GIRI DI UGG Y AT HIAH DI

Question Number : 97 Question Id : 103435705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR AT & oI ISR A T S AR IR B1 g 2

Options :

1. % fored it & amg o fomdt oft vt o & ot TSt SiueT ot SaTSl % e |
2. % e g areqw avf & TR B 3191 U ST U § |

3. % forgd ®ig ot RIS TRIST S1UHT HUd TSl gl R Fabdl

4. ¢ T B8 Hf TRIT TS 3101 Jud SaTS vl Gl &

Question Number : 98 Question Id : 103435706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T & IR Fufeiad e & 3 e faesh wree dragT oy 2
Options :

1. v giE B

2. % fofded

3. % WY

4. % &1

Question Number : 99 Question Id : 103435707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Y DI A FRIed fferc oawn W fog ara & g8 Adwr ang feu
Options :
1. % 2011
2. % 2013
3. ¥ 2007
4. % 2004

Question Number : 100 Question Id : 103435708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Jwe & e Ifud Wvs o’ |

Options :

1. ¢ F:xeh Farfdredm saaR

2. % TRIF RIS 3R o el

3. % QA B BT e fafre g R fAdw

4. % TG AN o oW Ao feifor o el R Mg S s

Question Id : 103435703 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

ra fou 7T TR @ earyd e Ue iR U Y Ut &1 Wad SR I |

ATV U B R I W o 81 & ol IUIR foran A 7, agl Fiforcn rgaran § | s ordf # 9+t ke &1 SUeR fafec daard @
3R T faforca SR HRIST &1 fomT Pl Yewb Wd B< (o1 &1 STl & <l 98 e fafdhe wgardT 8 399 aafad & (U-T iR I H1s Yo
31T TE] BT BIAT & 3R SUH TP WA DI & 3R YD AN T AR Bl & | ST STl aad 3R FelTol B gad 9gd HH Al
&1 TaT § 1o (e FIfheT & 3 SBR 8 Sl TR 3R STexade ANl &1 T g | TRIS aill & [ IRBR A Th M okl &1 §
fored 18 off TRIG TRIST 30T GO SATST $HRal Uohdl § T8 e T HIE Bt aith J ORI g3 § Forad TRBHR GRT S A SRdrd
S TR T84T SRUAId| & TRId RISl B a8 DIc & dgd Gud SaTol HR-1 I 818 DIC gRI G415 Ts U AT HHST o d8d 31§
IRBRT AT I IBR [T 7Y RIS TSl 61 UTgace SRudral # e fafdre & Seeh T 40 UTgde SRUard g o R | &1 7 78
&=y foru B 8k I8 =T 2007 # fou 7T el & dgd B

Sub questions

Question Number : 96 Question Id : 103435704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3Te & 3R [ Yew fafre fed wea § 2
Options :

1. % Qoo G Aol DR Dl

2. ¢ ToH1 Yoo AT TSl R &l

3. % IS Y Yeb B 3R AT 81 ST

4. % GIRI DI UGG Y AT HIAH DI

Question Number : 97 Question Id : 103435705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR AT & oI ISR A T S AR IR B1 g 2

Options :

1. % fored it & amg o fomdt oft vt o & ot TSt SiueT ot SaTSl % e |
2. % e g areqw avf & TR B 3191 U ST U § |

3. % forgd ®ig ot RIS TRIST S1UHT HUd TSl gl R Fabdl

4. ¢ T B8 Hf TRIT TS 3101 Jud SaTS vl Gl &

Question Number : 98 Question Id : 103435706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T & IR Fufeiad e & 3 e faesh wree dragT oy 2
Options :

1. v giE B

2. % fofded

3. % WY

4. % &1

Question Number : 99 Question Id : 103435707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Y DI A FRIed fferc oawn W fog ara & g8 Adwr ang feu
Options :
1. % 2011
2. % 2013
3. ¥ 2007
4. % 2004

Question Number : 100 Question Id : 103435708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fTwsE & forg Ifud 2 o |

Options :

1. ¢ F:xeh Farfdredm saaR

2. % TRIS TR 3R U TSl

3. % gAY DI BT FAgew Fafhen saer R A

4. % TG AN o oW Ao feifor o el R Mg S s
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Question Number : 101 Question Id : 103435709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word ‘psychology’ comes from the Greek words ‘psyche’ and ‘logos’. These two words mean:
Options :

1. # mind and explanation, respectively

2. ¥ life and explanation, respectively

3. % life and mind, respectively

4. % life and behaviour, respectively

Question Number : 101 Question Id : 103435709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R EICRIEK WWWWW “HIFP (psyche)’ 3R Y (logos)' @WEGIT%I 3 GIFI W3l BT HH: T 31 g:
Options :

1. % SHHRL: 7 SR Rl

2. ¥ HHR: Sfia 3R RS

3. % P Sia 3R 7

4. % HAT: SigT 3R HTER




Question Number : 102 Question Id : 103435710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Research psychologists use methods to create new knowledge about the causes of behaviour.

Options :

1. #* predictive
2. % humanity
3. % scientific

4. % numerology

Question Number : 102 Question Id : 103435710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IER & HRB| & Jag H T JMH U B & o8 SIeUemal Haq-edb faferaY 1 ST HRa |
Options :

1. % QarAMA®RI

2. % HHaqmare!

3. ¢ qqIf®

4. % AHIATC

Question Number : 103 Question Id : 103435711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Experts such as clinical, counselling, industrial-organisational, and school psychologists, who use existing research to enhance the everyday life
of others, are called:

Options :

1. # psychologist counsellors
2. # psychologist professors
3. % psychologist scientists

4. ¥ psychologist practitioners

Question Number : 103 Question Id : 103435711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

31 Il & & Siia B I - & forT IfHM ST BT IUGRT B+ aTa fa=ivg O fob Aeiies, wR=iardT, Sienfies-
T3 E 3R W HAIGRD 3fE B T BT STl o:

Options :

1. ® TS AR (ORI
2. % THIAAHS THER

3. % THIGAIHS aqA®

4. ¢ YAOTIAS Vfdex R (@R Ba®)

Question Number : 104 Question Id : 103435712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are true or false:

I. Once injured, brain cells never function again.
II. All individuals experience nightmares during a night of regular sleep.

Options :

1. # I True II False
2. ¥ 1. False II. True
3. % 1. False II. False
4. % 1. True II. True

Question Number : 104 Question Id : 103435712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gamt fo Fufafed sy 98 § a1 7ad 8

. AU 81 9TH & §1¢ ARG B DIRIBTE b Syt v 78t Bl B
11. 9t e, 31d o Fafid g & R gad ¢@d ¢ |

Options :

1. % 1.l 11 7Tdd

2.+ 1.71dd 1L el




3. % LIdd 1L Tedd

4. % 1. ol II. Tal

Question Number : 105 Question Id : 103435713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain amount of is required in interpreting the results of these statistical manipulations.
Options :

1. # case studies

2. % data collection

3. % common sense

4. % data manipulation

Question Number : 105 Question Id : 103435713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< iR 1Y SHfHTe & URUTHI B SURSAT I o ferg b g 7= | B SHTaIDH AT gl 6|
Options :

1. % &Y HTT

2. % ST Yobed

3. ¥ TES ffe

4. % g =T

Question Number : 106 Question Id : 103435714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a valid statistical software package used by the typical psychology researcher or student conducting statistical
analyses?

Options :

1. # Minitab®
2. % SAS®

3. % SPSS™



4. ¥ P-Plus

Question Number : 106 Question Id : 103435714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o a1, Fiksge g faxayur &+ are Y JAifae Sraumddl a1 S gR1 SN fdhal S aTdl Ue a¢ qiRksge g
e dTR Udbol a1 82

Options :

1. # Minitab®

2. % SAS®

3. % SpSS™

4. ¥ P-Plus

Question Number : 107 Question Id : 103435715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following programs is capable of performing a number of statistical calculations, and produce reasonably good graphics as well as
being an excellent way of carrying out hand calculations for psychological records?

Options :

1. # MS-Word

2. % MS-PowerPoint
3. ¥ MS-Excel

4. % MS-Access

Question Number : 107 Question Id : 103435715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiad § Q o9 1 Ui, B8 WiRIe 1T TUMTE R4 3R IR Y I 31w Mthed S H & § a1 T8 Al Repis! P o
BIET UMY T3 HT T I Y ared ot g2

Options :

1. % THUY.-98

2. % THTY.-UlR Uigc



3.« TH UY.-UTRd
4, % THUY.-URY

Question Number : 108 Question Id : 103435716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following terms is odd or invalid with reference to statistical analysis of psychological data?
Options :

1. # Mean

2. # Standard deviation

3. % Distribution

4. ¥ Transportation

Question Number : 108 Question Id : 103435716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGRS ST & iRkeTe 1 fazaiwor & wey # Fufafed & & o 91 e SR a1 3¢ §?
Options :

1. # HIY

2. % AP A<

3. % §cd

4. ¢ OiRaga

Question Number : 109 Question Id : 103435717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following branches is a subdivision of behavioural neuroscience that studies the neural mechanisms of perception and behaviour
through direct manipulation of the brains of animal subjects in controlled experiments?

Options :

1. ¥ Physiological psychology
2. # Conditional psychology
3. ® Neural psychology



4. % Neuro-chemical psychology

Question Number : 109 Question Id : 103435717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiead & @ ®F T ¥RaT aragiRe dfe fagm &1 us IumHT |, foraes siard fafa va & vermed= sigsif & afkass & uae
YIS & AT § YR 3R SIdeR o1 dfAdeT yunferal o1 sieqg foar Sidr 82
Options :

1. ¢ RIS AAIfE

2. % gfasuTds Ao

3. % dAPg AAIGRE

4. ® dEEIINEAS gAfaIE

Question Number : 110 Question Id : 103435718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The peripheral nervous system lying outside of the central nervous system can be further divided into the and nervous
system.

Options :

1. ¥ autonomic; somatic
2. % autonomic; visceral
3. # visceral; molecular

4. % somatic; germline

Question Number : 110 Question Id : 103435718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T i & aTeR T uRkelta et o & IR i1 o H aieT off I g |
Options :

1. JW;W

2. % W, SRl

3. % W,&W




4. % BID; SHMHD

Question Number : 111 Question Id : 103435719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following systems exchanges sensory stimuli and messages to and from the brain in order for muscles to contract and relax?
Options :

1. # Visceral system

2. # Germline system

3. ¥ Somatic system

4. % Germ cells

Question Number : 111 Question Id : 103435719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # I &9 1 dF, AR & 9T ST ad! Sgaiuem! SR =i o1 fafm wvar § fore 9kt Iefad $ik Rifdferd gidt g2
Options :

1. % 3’ o=

2. % GHMH® o

3. ¢ BIRYD A

4, % ST DIRABIY

Question Number : 112 Question Id : 103435720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is FALSE with reference to the brain?

Options :

1. # The temporal lobe has a major role in vision and audition.

2. % The frontal lobe is significant for motor function and problem solving.

3. # The spinal cord is attached to the brain and serves as the main connector of nerves and the brain.

4. ¥ The spinal cord is attached to the vision and audition system.



Question Number : 112 Question Id : 103435720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aiass & Yoo A ufafad § @ & a1 suF, Tad 32

Options :

1. % 2fP 3R 40 § wufue Ws (@RS ae) B UHa YA 8kl ]

2. % Y TGS (hed i), RSP T 3R FHE JHTYM & oY Agayuf gar g

3. % ey AT S8t gt § 3R dfatsil ok Al & s T Tasid & U & &1 vl g |
4. ¢ T, 2P SR 4qUr o A e gl g

Question Number : 113 Question Id : 103435721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In additions to brain cells, psychological research concerns the following, EXCEPT:
Options :

1. # structures

2. % components

3. # chemical interactions

4. ¥ role of environment or family

Question Number : 113 Question Id : 103435721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT BIRB1sM & SifaRad, TS SHU™ HafiRad U & semar are! a3 Jafa &:
Options :

1. % GITAY

2. % Ych

3. % RIS Sfafhang

4. « JGIaR0 O7 URAR &1 YHHT



Question Number : 114 Question Id : 103435722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following type of research, the amount of a specific treatment is altered and effects of this alteration are measured on particular
participants?

Options :

1. ¥ causal or experimental research

2. % correlational research

3. % descriptive research

4. % relational research

Question Number : 114 Question Id : 103435722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ@a?@r%w%@wﬁ,mwwﬁmmw%ﬁaﬁaﬁ%ﬁ%@wuﬁmﬁﬁmwuﬁﬁ%uuﬁmw
ST 82

Options :

1. ¢ 3P T RIS U™

2. % gggdy U

3. % qUATHD SFIHYUTH

4. % JIYRD YT

Question Number : 115 Question Id : 103435723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following systems consists of the brain, spinal cord, and other nerve tissues throughout the body?
Options :

1. % Metabolic system

2. # Digestive system

3. % Nervous system

4. % Pancreas



Question Number : 115 Question Id : 103435723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol 4 3 forg o o afkre, Ty, 3R ¥ IRR & o7 dR®T Sde aieifd 82
Options :

1. % Jgo=y oA

2. % g I

I ECAKE]

4. % AJERY

Question Number : 116 Question Id : 103435724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The nervous system is made up of nerve cells called:
Options :

1. # photons

2. % neutrons

3. % protons

4. % neurons

Question Number : 116 Question Id : 103435724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dfeT 4= fom e ifkemrstt 9 it giar § 3= &1 w8l I 6:
Options :

1. % BIcH

2. % g

3. % UicH

4. ¢ R

Question Number : 117 Question Id : 103435725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are true or false:

I. The nervous system’s primary function is to react to internal and external stimuli in the human body.
I1.The nervous system uses electrical and chemical signals to send out responses to different parts of the body.

Options :

1. * I. True; II. False
2. % 1. False; II. True
3. #* I. False; II. False
4. % 1. True; II. True

Question Number : 117 Question Id : 103435725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gant fo fFufafed sy 98 g a1 Tad &
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Options :

1. % 1. 98l; 11 7Tad
2. % 1.77dd; 1. ol
3. % [ 7[dd; 11, Teid

4.« 1. 981 . To

Question Number : 118 Question Id : 103435726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the example of an opinion poll to determine which presidential candidate people plan to vote for in the next election, describes which of
the following types of research?

Options :
1. % Exploratory research
2. # Analytical research

3. % Descriptive research



4. #* Quantitative research

Question Number : 118 Question Id : 103435726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T AT | A Ug & fog for IficaR &1 die 39 W faaR SR 3R €, I I1d B & (o8 fbT S a1at U S Tdefr &
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Options :

1. % JAYUTHD I

2. % fO=cIYUTH® ¥

3. ¢ QUATHSD SFIHYUH

4. % HEATHSD THUH

Question Number : 119 Question Id : 103435727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Emotion constitutes a major influence for determining the:
Options :

1. # educational qualification

2. % human physic

3. * human age

4. ¥ human behaviours

Question Number : 119 Question Id : 103435727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T (gHR), fFafafad & § fege RulRor s & e te uga gure IR §:
Options :

1. % Qe ura

2. % HHA YRR

3. % WG 31



4. ¥ TFAIY dgR

Question Number : 120 Question Id : 103435728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The goal of rational emotive behaviour therapy is to help people recognise and alter in order to overcome psychological problems and
mental distress.

Options :

1. % immune system

2. ¥ negative thinking pattern
3. # learning pattern

4. % creativity pattern

Question Number : 120 Question Id : 103435728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9T gATel 3R AFRYS 0T BT ARl B & forw safdaal &1 DI U B 3R 38 TG § AGE AT, ThITd
HIGHTHS TaERITT fRIfb T 1 98T BiaT |

Options :

1. % yfcreft 4=

2. ¢ THRIAS I & T

3. % dRa" & T

4. % ITIIHDIT b Ued
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Question Number : 121 Question Id : 103435729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Studies of patients with cognitive deficits due to constitute an important aspect of cognitive neuroscience.
Options :

1. # skins lesions

2. % eyesight lesions

3. * bone lesions

4. % brain lesions

Question Number : 121 Question Id : 103435729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& BRI GIFTHS HH! aTal AN BT 3T GAHTHD AT (a3 BT T Hgdqul ST g




Options :

1. % a1 3t fqefferat
2. % 2f¥ i fqarfaai

3. % 3y &Y faeffaa
4. ORasp o1 faerfaai

Question Number : 122 Question Id : 103435730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following branches of psychology is concerned with how incidents or people affect each other?
Options :

1. ¥ Social psychology

2. % Emotional psychology

3. % Physical psychology

4. # Cognitive psychology

Question Number : 122 Question Id : 103435730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAiIfaR @t Fafofed & 9 19 0 <mar gersi a1 afaml & uRwaRe gyTal § Hefid g2
Options :

1. ¢ IS B

2. % HIATHD HIARH

3. % YRING FfaR

4. % IFETHS FAGTH

Question Number : 123 Question Id : 103435731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT present in the preview of social psychology?
Options :



1. # Group behaviour
2. % Improving employee performance at workplace
3. % Social perception

4. % Non-verbal behaviour

Question Number : 123 Question Id : 103435731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AAATH & favaes # FafaRad & 9 &1 a1 gfeferd 81 82
Options :

1. % Yfgsh HAdER

2. ¢ HIRA R HHARI & HRUGT H R

3. % HHISID Ty

4. % 3o HAGR

Question Number : 124 Question Id : 103435732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are true or false:

I. Social behaviour cannot be goal-oriented
II.Social situations help determine outcome

Options :

1. # I True II False
2. ¥ 1. False II. True
3. % I. False II. False
4. % 1. True II. True

Question Number : 124 Question Id : 103435732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gant fo Fufafed sy 981 § a1 7ad 8



L. IS HaER Ae-39 el 81 I
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Options :

1. % . gal 11 7Ted
2. ¥ LIAd 1L sl
3. % 1.7dd 11 Tad

4. % 1. gl 1L Tal

Question Number : 125 Question Id : 103435733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some common goals of social psychology include the following, except one:
Options :

1. # the need for social ties

2. # the desire to understand ourselves and others

3. ¥ the need to improve physical fitness

4. # the wish to gain or maintain status or protection

Question Number : 125 Question Id : 103435733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR FAIfaRH & g dedl § Fafoied o 9 ford U o Srarar are! it 2 &
Options :

1. % Q1D Se=1 DI ATagehdl

2. % Y B 3R GIRI DI THIA DT 3MThien

3. ¢ YRING Fiehadr T UR D1 SHTa=ehd]

4. % YRYFY 7 TREUT YT R T ST 7@ Dl 331

Question Number : 126 Question Id : 103435734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The speciality of industrial-organisational psychology is characterised by the study of in organisations and the workplace.
Options :

1. # cognitive, human spirit

2. # scientific, human physic

3. % gpiritual, human behaviour

4. ¥ scientific, human behaviour

Question Number : 126 Question Id : 103435734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T H 3R BRHRA R Gal ST BT, N e Ffaa ot Al fadwar g1
Options :

1. % WA URON, YT D

2. % A IR, I

3. % OHJIY TagR, NATHD

4. ¢ TGN HAER, a7M-dH

Question Number : 127 Question Id : 103435735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following functions involves designing procedures and equipment designed to maximise performance and minimise injury in an
organisation?

Options :

1. ¥ Training and development

2. % Ergonomics

3. # Organisational development

4. # Performance management

Question Number : 127 Question Id : 103435735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % UfRreor ud fabr

2. ¥ HHAR! TR faM (g erd Ira)
3. % giTeH® fae™

4. ® HRYCRH ((wTe) &7 UseA

Question Number : 128 Question Id : 103435736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions does NOT represent the functional aspects of the I/O psychologists' operations?
Options :

1. # What motivates employees at work?

2. # What types of leadership styles result in better performance of employees?

3. # Who are the best applicants to hire for a job?

4. ¥ What is the medical background of an employee?

Question Number : 128 Question Id : 103435736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad 7 9 &9 I U 10 (3NNMIe-aiTsHe) Fagnie! & S & Ub™ids ! & FRefud T8 Han
Options :

1. ® B &b GRM FHARY B B T HRD VR Hd 82

2. % P YBR $1 Agd Vit &b URUTHEET HHATRET BT SRV (FsTe) S8R §-1dT 82

3. % ot AIm (SiTe) & fore Fgad & 8 Taiad 3HTdGd HiF g2

4. ¢ 53l HHAR) &t Rfece g gy F1 82

Question Number : 129 Question Id : 103435737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
While roots of I/O psychology lie in experimental psychology, which of the following is NOT a sub-area of I-O psychology?



Options :

1. ¥ Human-computer interactions
2. # Personnel psychology

3. % Human factors

4. ¥ Professional psychology

Question Number : 129 Question Id : 103435737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® AM-HHCR fdichar

2. % HIfH® AAIGRH

3. % OFJ HRS

4. ¢ g TG

Question Number : 130 Question Id : 103435738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Abnormal psychology is a branch of psychology that deals with and , often in a clinical context.

Options :

1. ¥ psychopathology, abnormal behaviour
2. # psychopathology, normal behaviour
3. # psychotherapy, abnormal behaviour

4. # psychopathology, psychotherapy

Question Number : 130 Question Id : 103435738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. ¢ GAIfdid fa5M, SR TagR
2. % Tfdpid fa9M, 9= FdER
3. % FAIRIf T, SRR SOd8R

4. % TIfqpTa fagm, Tefafare

Question Number : 131 Question Id : 103435739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The disorders such as depression, obsessive-compulsive disorder (OCD) and personality disorders represent:
Options :

1. # social psychology

2. % abnormal psychology

3. # psychological psychology

4. ® cognitive psychology

Question Number : 131 Question Id : 103435739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T, THII-TEIH f[JBHR (0CD) 3R Hfdad faeR 3nfe fawR Fufeiead # 3 forad Jafda g
Options :

1. % grATSIS HAATH

2. ¢ SRR HAIAR

3. % HAIARIAG A

4. % IS TG

Question Number : 132 Question Id : 103435740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The (DSM) is the handbook widely used by clinicians and psychiatrists in the United States to diagnose psychiatric illnesses.
Options :

1. # Discrete and Statistical Manual of Mental Disorders



2. ¥ Diagnostic and Statistical Manual of Mental Disorders
3. # Diagnostic and Structural Manual of Mental Disorders

4. # Diagnostic and Statistical Measurements of Mental Disorders

Question Number : 132 Question Id : 103435740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(DSM) T GIGRIPT & FoTeehT Had I SiResT H Agmfdal sk Afafecd! gRT AHIldeR dae stafal & e & for
P =0 F IYTNT {1 T g |
Options :
1. % fewplcts wfefewd aﬂ\?lﬁ 3 Hed fgdie (Discrete and Statistical Manual of Mental Disorders)
2. ¥ STUIRCD Us wfefewd aﬂ\}lﬂ 3 Hed feare (Diagnostic and Statistical Manual of Mental Disorders)
3. % SR U8 RSNG| fl_j\?ﬁ"[ 3T Hed fearex (Diagnostic and Structural Manual of Mental Disorders)
4. % SOUIRCH TS wRfefesmd mﬁ 3T Hea fare (Diagnostic and Statistical Measurements of Mental Disorders)

Question Number : 133 Question Id : 103435741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following option is an exception to the famous four D's of Abnormality?
Options :

1. ¥ Deviance

2. ¥ Detachment

3. % Danger

4. ® Dysfunction

Question Number : 133 Question Id : 103435741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & @ o 1 fawe srammTar & ulig TR St (D) # affferd T8 82
Options :

1. % TYIARUT (Deviance)



2. ¢ 3T (Detachment)
3. % WX (Danger)

4. ® W(Dysfunction)

Question Number : 134 Question Id : 103435742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Childhood is a , not merely a stage in physical and psychological development.
Options :

1. # complex condition

2. % medical condition

3. # emotional intelligence measure

4. % social and cultural construction

Question Number : 134 Question Id : 103435742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 7 ARING 3R FA19T1P AP Bl Uh TRIT 7 BlhR Th el gl
Options :

], % Sffed fRUfd

2. % Rfece Rufd

3. % TG ST e

4. ¥ QTS UG I AT

Question Number : 135 Question Id : 103435743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Children and adolescents can be especially because of their immaturity and dependence.

Options :
1. ¥ vulnerable

2. % complicated



3. % agitated
4. # hyperactive

Question Number : 135 Question Id : 103435743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Ot 3raRuerdr 3R MHTAT b PR §=d 3R PR IRy Fu J S IAHA B
Options :

1. ¥ 49

2. % Hfed

3. %

4. % 3ffcrafey

Question Number : 136 Question Id : 103435744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Articles states that ‘a child means every human being below the age of 18 years unless, under the law applicable to the
child, majority is attained earlier’?

Options :

1. % The Convention on the Rights of the Child (Article 11)
2. % The Convention on the Rights of the Child (Article 1)
3. # The Convention on the Rights of the Child (Article 10)
4. #% The Convention on the Rights of the Child (Article 111)

Question Number : 136 Question Id : 103435744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 frg srede # g8 we1 a1 § o o T ST 18 a8 I $H 31 & Ud® A9 ¥ 8, e 9= R AN &7 & dgd, Ugd
gRTedr = T &1 718 817

Options :

1. % 9T HTIHR AT (3¢ 1)

2. ¢ 1A HUBHR ARG (3=< 1)




3. % 91 TIBHR TR (3rT=< 10)
4. % 910 PR AR (31Twvg 111)

Question Number : 137 Question Id : 103435745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organisations defines an unaccompanied minor as ‘below 15 years of age and not being accompanied by an adult’?
Options :

1. # International Federation of Red Cross and Red Crescent Societies (IFRC)

2. ¥ ICMR

3. ¥ International Committee of the Red Cross (ICRC)

4. % UNISEF

Question Number : 137 Question Id : 103435745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mgrﬁaﬁﬁmw%m,w&wﬁqs I8 T HH A H1 81 3R [t 79 & 1Y 781 g & =0 § wrikuifda fowan
gl g?

Options :

1. % ST BSIRM 3Hh I8 HiY TS IS fohdc g (IFRC)

2. % 318 TH.3MR. (ICMR)

3. AT BT 3 fg IS B (ICRC)

4. % gY% (UNISEF)

Question Number : 138 Question Id : 103435746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following developmental life stages is neither timeless nor universal, and is not determined only by age or biological and
psychological factors?

Options :
1. # Senior citizenship
2. # Adolescence



3. # Adulthood
4. % Childhood

Question Number : 138 Question Id : 103435746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® gRY AN

2. % {HRIRTERA

3. % gIhdl

4, ¢ dleIay[

Question Number : 139 Question Id : 103435747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following branches is a general practice and health service provider speciality in professional psychology?
Options :

1. ¥ Counselling psychology

2. # Physiological psychology

3. % Conditional psychology

4. ¥ Neural psychology

Question Number : 139 Question Id : 103435747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ WRTERf gAfagm=

2. % RING A



3. % yfadyrars FAfagE
4. % dfeT FfagE

Question Number : 140 Question Id : 103435748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are true or false:

I. Counselling psychologists help people with physical, emotional, and mental health issues improve their sense of well-being, alleviate feelings
of distress, and resolve crises.
II. Counselling psychologists can’t provide assessment, diagnosis, and treatment of more severe psychological symptoms.

Options :

1. ¥ I. True II False
2. # I. False II. True
3. % 1. False II. False
4. % 1. True II. True

Question Number : 140 Question Id : 103435748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 141 Question Id : 103435749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to counselling psychologists, childhood, adolescence, adulthood, and older age are:
Options :

1. ® criteria for medication

2. ¥ stages of development



3. % always complex

4. # gender bound

Question Number : 141 Question Id : 103435749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % GaT3fl & UGN g @GS

2. ¢ T & =RUT

3. % ged Sfed

4. % foIT 3fle

Question Number : 142 Question Id : 103435750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The problems addressed by counselling psychology are addressed from the following perspectives, EXCEPT:
Options :

1. ¥ religion

2. % cultural

3. # developmental

4. % environmental

Question Number : 142 Question Id : 103435750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 41

2. % GRpidd
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4. % qgigRuiy

Question Number : 143 Question Id : 103435751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the strategic approach to the effective and efficient management of people in a company or organisation such that they
help their business gain a competitive advantage?

Options :

1. % Fund management

2. ¥ Human resource management
3. #* Project management

4. % Quality assurance

Question Number : 143 Question Id : 103435751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [ ydeq

2. ¢ HFd GA1Y e

3. % ORI gded

4. % TUTaRT YR

Question Number : 144 Question Id : 103435752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human resource management is primarily concerned with the management of people within organisations, focusing on:
Options :

1. # profiles and systems

2. # policies and procedures

3. ¥ policies and systems



4. # policies and publicity

Question Number : 144 Question Id : 103435752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A4 ST TeeH Fafaied O 9 g )R Sied 81 & 91, 08 $9 9 T76H1 | Afgadl & Jae= 3 Jafed §:
Options :

1. % gTag SR yonferat

2. % fifcrl 3iR Brifaferat

3. ¢ i 3R yomferi

4. % Hifdt SR TR

Question Number : 145 Question Id : 103435753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following departments are responsible for overseeing employee-benefits design, employee recruitment, training and
development, performance appraisal, and reward management, such as managing pay and employee benefits benefit systems?

Options :

1. # R & D departments
2. ® Security departments
3. % Finance departments
4. ¥ HR departments

Question Number : 145 Question Id : 103435753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o I faur sl & g ardl & sifiyewfeud wq, HHaal o Fgfad, ufRiem sk faery &7, srdues ()
&1 Jedidhd dA, 3R RIBR Faied HA, S 6 97 3R ! feaary gonferdt &1 Ueier - & forg StRerd giar 82

Options :

1. % SFYYM Td fdd™ (R&D) faumT

2. % IREM fAHNT

3. % o faumT




4.+ G YUY (HR) fAUTT

Question Number : 146 Question Id : 103435754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The overall purpose of human resources (HR) is to ensure that the organisation is able to achieve success through:
Options :

1. ¥ people

2. # process

3. % problem

4. % program

Question Number : 146 Question Id : 103435754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tg YRTd ST A1Ha TH1EH (HR) T I 3239 | o6 e Rafafad & daregm § Iwedr o &4 & 9ed 8
Options :

1. ¢ il

2. % yfcharaii

3. % gL

4. % HTIHHI

Question Number : 147 Question Id : 103435755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a speciality area that focuses on how biology, psychology, behaviour, and social factors influence health and illness?
Options :

1. % Wealth psychology

2. % Team psychology

3. ¥ Health psychology

4. #% Human psychology



Question Number : 147 Question Id : 103435755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmﬁfr@?rﬁ@rﬁ?mﬁ@m &7, WY 3R ARG TR SHafd, Afag, TaeRId, 3R ATHING BRE! B THIT THIH TR Bigd
0

Options :

1. ® Fuar gifag=

2. % Y qAIGIE

3. ¢ ARG AT

4, % AMFd HAITITH

Question Number : 148 Question Id : 103435756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The terms including and are sometimes used interchangeably with the term health psychology.

Options :

1. # variant psychology, behavioural medicine

2. % emotional psychology, behavioural medicine
3. # gpiritual psychology, behavioural medicine

4. ¥ medical psychology, behavioural medicine

Question Number : 148 Question Id : 103435756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR AAIGTH Weg & 1Y Ht-paft 3R gad Usal &l URWR® 0 I UGN {1 S1ar g |
Options :

1. ® UHRIR AITGYH, TIgRIT b e

o\

2. % YIAATHD AT, TR [ TRIRd
3. % A HB A, TTSRIT [ AR
4. Taf DY AR, HIERITT =




Question Number : 149 Question Id : 103435757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following experts focuses on understanding how people react to, cope with, and recover from illness?
Options :

1. ¥ Health psychologists

2. % Eye specialists

3. % Career counsellors

4. ¥ Sports coaches

Question Number : 149 Question Id : 103435757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mgﬁﬁﬁm,aﬁﬂﬁ%ﬁ-&aﬁmﬁmﬁWW%W@?M@W%%W@WW
o

Options :

1. ¥ WG TS

2. % 77 favivy

3. % Sig-ad (HRER) Geeft Riardr

4. % Wdpa UfRIeH

Question Number : 150 Question Id : 103435758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Health psychologists focuses on the following issues, EXCEPT:
Options :

1. % improving daily nutrition

2. % improving hair texture and quality

3. # hospice care and grief counselling

4. % reducing risky sexual behaviours



Question Number : 150 Question Id : 103435758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wy AT+, Fafafed o @ frads smemar o @t gef R Hfea gld &
Options :

1. % e Qv A gurR

2. ¢ SIAI &1 g-1aC SR TOraT & JUR

3. % FRUME AT &1 S@HTe SR e Fafel urreref

4. % SRl 91 agRI § wHl a1

Question Number : 151 Question Id : 103435759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following branches is an interdisciplinary field in both the behavioural and social sciences that draws primarily upon the research of
sociologists, political scientists, economists, psychologists, philosophers, psychiatrists, biologists, social anthropologists as well as scholars
of law?

Options :

1. # Forensic medicine
2. ¥ Criminology

3. # Cyber security

4. # Biotechnology

Question Number : 151 Question Id : 103435759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o § ®F T a1, ARG 3R QoI AR § Sidaaiid & g, S 0@ TU I FHTCIRIRed!, o Ta=ITTedl, e,
IR, grRifFe!, i, Sadsm!, Tt AHaRTRaal aut fafer sredrsif gRT fhu S ardt Sraiemi wR snetiad &2
Options :

1. % fafffrc=me vy o (RS AfeRim)

2. ¥ AWRTYRRA

3. % QIgeR R

4. ® SaUTENe! (@IS




Question Number : 152 Question Id : 103435760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Apart from, crime, which of the following component is researched and studied by criminologists?
Options :

1. # theory of unethical behaviour

2. # criminals

3. % society's response to crime

4. ¥ victim's response

Question Number : 152 Question Id : 103435760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRR GRT, SORTY & SffcIRard FHAfRed H ¥ ford gee &1 SrI™ena 3R sreaa foar S g2
Options :

1. % 3fde HagR BT Riaid

2. % ORI

3. ¢ 3IRTY o Yl GHIST 1 Ui

4. % Gifgd o1 gfcfohar

Question Number : 153 Question Id : 103435761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following branches deals with legislative bodies, law enforcement agencies, judicial institutions, correctional institutions and
educational, private and public social agencies?

Options :

1. # Biotechnology
2. # Ecology

3. % Sociology

4. ¥ Criminology



Question Number : 153 Question Id : 103435761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgfefad o @ o B v fafire Fer, S yad= TeiRi!, <nflie G, gurTeTs Twirst iR Qfees, sl sk arewe
oI ToiRdl & e 52

Options :

1. % Squrenfi!

2. % giRfRufcapt

3. % UG

4. & JTRTERIRA

Question Number : 154 Question Id : 103435762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following experts conduct research and investigations to examine behavioural patterns of possible criminals and society's response
to crime and develop theories?

Options :

1. # Anthropologist

2. # Crime scientist

3. # Forensic psychologist
4. ¥ Criminologists

Question Number : 154 Question Id : 103435762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed 3 3 o 9 faRvg Suifad sroRIfEaT & SHagRITd Ued, TUT STURTY o Wi THTS ST Uldfohal BT URIE0 - o [l S 3R
YT SNFSTT B § 3R Rigid fapRid ad 82

Options :

1. % IR

2. % IRTY IS

3. % RSP AAGIS

4. ¥ IORTY A




Question Number : 155 Question Id : 103435763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following laws prescribe conduct perceived as threatening, harmful, or otherwise endangering to the property, health, safety,
and moral welfare of people inclusive of one's self?

Options :

1. ¥ Criminal laws
2. # Police laws
3. % Court laws

4. % Political laws

Question Number : 155 Question Id : 103435763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad # 9 &1 I S gRI, W8 & 1Y 3 AN B YUy, W, JREM 3R Afdd S (W) & o7t TavA1e, JHaMes a1 8
UpR A TR & ST dTdl 3Rl o1 Ay foam S g2

Options :

1. ¢ SORIYD BT
2. % Yferg BT

3. % Tt BT

4. % JSATAP B

Question Number : 156 Question Id : 103435764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Criminal law includes the and of people who violate such laws.

Options :

1. % training, rehabilitation

2. % punishment, training

3. % punishment, rehabilitation

4. ® residence, rehabilitation



Question Number : 156 Question Id : 103435764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIRTIAS BT H, 37 B BT Iecta B aTel fad! bl 3R R A
Options :

1. % yfRreror, gaty

2. ® dg, Ui

3. ¥ €8, gaig

4. % 319N, TAaY

Question Number : 157 Question Id : 103435765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a formalised official activity that authenticates the fact of commission of a crime and authorises punitive or
rehabilitative treatment of the offender?

Options :

1. ¥ Criminal procedure

2. # Counselling procedure
3. % Civil procedure

4. % Civil trial

Question Number : 157 Question Id : 103435765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafifead 7 3 o O e shuamie Snfieie 1fafafd 8 S sroRTy fhu S & d &) gH1forg e § 3R SIUaR & SSie® T
YAaTES IUAR B TfRGd Hcl 32

Options :

1. ¢ 3MOiY® gfeear
2. % TRTAR ufesan
3. % Rufga ufear
4. % T¥fdd ghen



Question Number : 158 Question Id : 103435766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In criminal law, emphasis is more on:

Options :

1. # training and rehabilitation

2. # dispute resolution and victim compensation
3. ¥ punishment and rehabilitation

4. % residence and rehabilitation

Question Number : 158 Question Id : 103435766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS B H, fhg R 3if¥ie SR faa S &:
Options :

1. % YR1ef0r 3R gAa

2. % faarg RRREr ok difed efagfc

3. ¥ €8 3R gHa

4. % 3TN 3R AR

Question Number : 159 Question Id : 103435767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can be defined as any condition that develops following some stressful situation or event, such as sleep disturbance,
recurrent dreams, withdrawal or lack of concentration?

Options :

1. ® Conduct disorder

2. # Psychological theory of deviance
3. ¥ Post-traumatic stress disorder

4. % Deviant behaviour



Question Number : 159 Question Id : 103435767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed 8§ 3 fa, Ui forsht g=n & &0 & urikuiiSa foram o wear § o farslt aragul uRiRifa ar ger, o i e & sgaum, smadf
U, TATER T THTIAT & HHTT &b HRUT ST Bl 82

Options :

1. % 3RRU fdHR

2. % fquTe w1 FaRe Rigid

3. ¢ SMEUTd-IYTd d1d f[AhR (URe giHfed 19 feTsiiay)

4. % fquyTTH} agR (efdte fasfam)

Question Number : 160 Question Id : 103435768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a psychological disorder diagnosed in childhood that presents itself through a repetitive and persistent pattern of
behaviour in which the basic rights of others of major age-appropriate norms are violated?

Options :

1. * Speaking disorder
2. ¥ Conduct disorder
3. #* Inferiority complex

4. % Superiority complex

Question Number : 160 Question Id : 103435768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed # I & 1 srearawi 8 FRerd forar S arer T Al [AeR § off T8 a8R & GARIad! 3R Sraeird Ued & arem 9
Ge P USRI Hal ¢ T 3= ARl &, 31 & SIAR I AFH| & A BRI BT Jeerd [l SiTdl 5?2

Options :

1. % g fdepR

2. ¢ TR fadR
3. % gHar wuR
4. % I AR
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Question Number : 161 Question Id : 103435769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The processes devised and adopted for the punishment and prevention of crime are called:
Options :



1. # Psychology
2. # Criminology
3. # Atavism

4. ¥ Penology

Question Number : 161 Question Id : 103435769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TRTY B &8 & AT, 3R ST AvUTH & fog R SR sfifigra ufshany, 59 A & ST oIl &
Options :

1. % FHIfSR

2. % JRIYRMIA

3. % gaordr

4. ¢ SSfaH

Question Number : 162 Question Id : 103435770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The re-appearance of an ancestral characteristic in an organism after several generations of absence is called:
Options :

1. # Psychology

2. % Criminology

3. % Atavism

4. ¥ Penology

Question Number : 162 Question Id : 103435770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
for<il offa o, ®I5 Jaol SINTef & &8 Ulfed! ddb SrUfdd X8+ & §1g UH: Uahe g 31 Hedrdl §:

Options :

1. % FfaqH




2. #® JHWRIYRMA (Criminology)

3. ¢ gaordl
4. % GefaqM (Penology)

Question Number : 163 Question Id : 103435771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Social psychologists define as behaviour that is intended to harm another individual who does not wish to be harmed.
Options :

1. ¥ aggression

2. # depression

3. % attention deficit disorder

4. ® hyperactivity disorder

Question Number : 163 Question Id : 103435771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI A ®! T FGER & U H TIRHTT X § S T 30 AR bl I Uga o iU 3 fosar Srar g o
IHH gl 918 & |

Options :

1. % 3{IhTHD I

2. % 3ddlq

3. % IYM-GAT fabR

4. % 3ffagibad fdeR

Question Number : 164 Question Id : 103435772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An aggression that is intentional and planned, more cognitive than affective and may be completely cold and calculating is called:
Options :

1. % excessive aggression



2. # impulsive aggression
3. % instrumental aggression

4. # repulsive aggression

Question Number : 164 Question Id : 103435772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iy 3R AR 3, S 3masht & 3ifdie TeTee Bt & 3R qufaar HiaRiRd 3R Yeu=ieR) €1 obd §, 98 o1 dead ¢;
Options :

1. % 3D SAThTHB

2. % ATl SHThTHD

3. ¢ HIYh HIhTHh I

4. % YfADHYT STehTHBT

Question Number : 165 Question Id : 103435773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aggression occurs with only a small amount of forethought or intent and that is determined primarily by impetuous emotions.
Options :
1. # Excessive
2. % Impulsive
3. ® Cognitive

4. % Instrumental

Question Number : 165 Question Id : 103435773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S{THTHAG T, Had SHeTHE H JaadaR a1 YT o 1Y gidl! &, TUT T =0 ¥ g Hia-1si gR1 Fuffed gidt g
Options :
1. % 3D
2. 3Tavit




3. % AP
4. % giYPp

Question Number : 166 Question Id : 103435774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Social psychologists agree that aggression can be:
Options :

1. # internal as well as external

2. # social as well as personal

3. # verbal as well as social

4. ¥ verbal as well as physical

Question Number : 166 Question Id : 103435774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT TGRS 39 IR & WeHd & O STehrdar:
Options :

1. % JHTaRe qUT I8 81 Tabell &

2. % TSI qUT AT 81 Fdbel §

3. % s qUT WA & el 8

4. ¢ e TUT ARG B qavell §

Question Number : 167 Question Id : 103435775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Any illness with significant psychological or behavioural manifestations that is associated with either a painful or distressing symptom or an
impairment in one or more important areas of functioning is:

Options :
1. ¥ a mental disorder
2. % autism

3. % impulsive aggression



4. % cognitive aggression

Question Number : 167 Question Id : 103435775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreht dreTarae a1 aTaqul A&fvT ¥, 1 YT dl & U a1 3Hfd Heayu &3 § SRIaddl § Wag, Hew™yUl Al a1 HagRId
SIS & A1 Pis SR, FafaRad & 9 o1 S o

Options :

1. ¢ HHRYD fdpR

2. % WAHdT (3TfesH)

3. % TAT SHThTHD T

4. % TIHETHD SMTHTHG

Question Number : 168 Question Id : 103435776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The nature of the intellectual property laws is:
Options :

1. # reversible

2. # irreversible

3. ¥ territorial

4. % exterritorial

Question Number : 168 Question Id : 103435776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIfG® YUl BT B UHI [ UHR &1 6:
Options :

1. % IchHUT

2. % 3JchHUIY

3. ¥ Gl




4. % 3ffaqeig

Question Number : 169 Question Id : 103435777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Crimes against intellectual property rights (IPRs), including producing and marketing counterfeit commodities and piracy as severe IPR
violations, can be categorised as:

Options :

1. ¥ contemporary crimes
2. # conventional crimes
3. # traditional crimes

4. % research crimes

Question Number : 169 Question Id : 103435777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Farah forat o1 e 3R fauum qur urR aftd sifes Juer SHf¥eRI (1IPR) & faveg SOR1d, duT 7iHR 38, . 3R, (IPR) I,
frafafed o 9 for =u o arffed fow o 9ed &

Options :

1. ¢ GHBTAM SHRTY

2. % GRUEHTd 3{UR1Y

3. % URUNG RIY

4. % YT SAURTY

Question Number : 170 Question Id : 103435778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Intellectual Property (IP) crime is more generally known as:
Options :

1. % password cracking

2. ¥ counterfeiting and piracy

3. ® social engineering



4. % brute force attack

Question Number : 170 Question Id : 103435778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Fuer (1p) Ry Feffad § fea U § oifte gy =0 & oM oid 89
Options :

1. % UGS W HRAT

2. ¥ HTHIU 3R WUGRUT (TR

3. % TSI fHiNDI

4, % HI I AThHUT

Question Number : 171 Question Id : 103435779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Counterfeiting is a wilful form of infringement, while piracy is wilful infringement.
Options :

1. ¥ trademark, copyright

2. % trademark, trade secret

3. % trade secret, patent

4. ® patent, copyright

Question Number : 171 Question Id : 103435779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHeHT], S{fIETa BT T ATV W] g, STafoh Ira! eI foar Jfacg I ]

Options :

1. ¢ TSI, UfAfTEieR (H1dRT=e)
2. % TSHID, ARG g

3. % UG 36, Uc<

4, % U, lAfaitaR (@1UREe)




Question Number : 172 Question Id : 103435780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify theft, embezzlement, malware, social media intimidation and scams are examples of:
Options :

1. ¥ contemporary crimes

2. % Petty crimes

3. # traditional crimes

4. % research crimes

Question Number : 172 Question Id : 103435780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR B UgTH, 7o, AR, T Hifsar iR yHw! 3R e, Fufafad & 3 feas Seerurs:
Options :

1. ¢ BT HRTY

2. % I8 WY

3. % URUNG RIY

4. % 3THYT RTY

Question Number : 173 Question Id : 103435781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main task of police is to enforce , protect the and safeguard their property.
Options :

1. # law and order, corporates

2. % curfew, senior citizens

3. # fine collection, animals

4. % law and order, citizens

Question Number : 173 Question Id : 103435781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gafdd T, T TREUT HRAT, 3R ST FURT B YR& HRAT, Gfery H1 7 Y g |
Options :
1. % BT 3R IR, A} (@)
2. % B, IRF AFRDI
3. % 3UdS UG, Sl
4.« BT 3R HGRT, AFTRD|

Question Number : 174 Question Id : 103435782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Police administration is NOT related to which of the following operations?
Options :

1. # Organisation and management of policing

2. % Organisation of policing function at the national or societal level

3. # Organisation and management of individual police agencies and units

4. ¥ Pay fixation of police

Question Number : 174 Question Id : 103435782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfery g fgfaied & 9 forg & § d6fia T8t 82
Options :

1. % Gfory awy] &1 S 3R UeeH

2. % BTG T YHATTD TR TR Yfery SHaRIT B b TG
3. % QY e TSRyl 3R IHh1sal &1 WTe SR Taed
4. ¢ YR &1 da- YR

Question Number : 175 Question Id : 103435783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
(entry 2, List 11, Seventh Schedule) of the Indian Constitution enumerates police as a State subject.
Options :
1. ¥ Article 246
2. % Article 240
3. % Article 241
4, % Article 242

Question Number : 175 Question Id : 103435783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTT T3 &1 ofafd 2, gt 11, Tradl S e o s &1 fawg wifv (Ruffea) #rar gl
Options :

1. ¢ 3G 246

2. % 3G 240

3. % 3fTw9G 241

4. % 3G 242

Question Number : 176 Question Id : 103435784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The task of which of the following is to make laws on subjects included in the Union and Concurrent lists and make amendments to the basic
police laws like Indian Penal Code, the Code of Criminal Procedure, Evidence Act, etc.?

Options :

1. # The state governments

2. ¥ The Central Government

3. % The President's administration

4. % The Governor's administration

Question Number : 176 Question Id : 103435784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I WHRI

2. ¥ DAY DR

3. % PUfd &1 U=

4. % SYUTe T URMAT

Question Number : 177 Question Id : 103435785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The department coordinates and supervises the police administration in a state.
Options :

1. % Defence

2. # Safety and Security

3. ¥ Home

4. % Finance

Question Number : 177 Question Id : 103435785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fIUTT, T IT B Yferd U= 7 WH-ad 3R uddeur aRar g
Options :
1. * yfoRen
2. % &I Td TR&M
3.4 1]g
4. % foq

Question Number : 178 Question Id : 103435786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Circle Inspector is accountable to the for the work of the police.
Options :

1. % Sub-inspector

2. % Superintendent of Police

3. % Deputy Sub-inspector

4. # Inspector General

Question Number : 178 Question Id : 103435786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

icher Ferep, gfera & Pl 8 & Ul SWRar g 5|
Options :

1. % Ju-FRed

2. ¢ gferg sreflefd

3. % g Iu-FRiars

4. % HEI-RIers

Question Number : 179 Question Id : 103435787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Police Inspectors should be on tour for least in a month unless there are special reasons which prevent it.
Options :

1. # 7 days

2. % 5 days

3. % 10 days

4. % 15 days

Question Number : 179 Question Id : 103435787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % 7feq
2. % sfeq
3.¢ 10feA
4. % 151

Question Number : 180 Question Id : 103435788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are true or false:

I. Circle Inspectors are especially responsible for the correct investigation of serious and important cases conducted by their subordinates.
II. Sub-inspectors are responsible for the investigation work within their jurisdiction and, if important and interesting cases are taken out of their
hands, a slur is cast upon them and their sense of responsibility is seriously weakened.

Options :

1. # 1. True II. False
2. # 1. False II. True
3. # I. False II. False
4. % 1. True II. True

Question Number : 180 Question Id : 103435788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 103435789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are true or false:
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I. Assistant Sub-inspector ordinarily accompanies the Circle Inspector when he/she is on tour.
II. A Circle Inspector is allowed one constable as an orderly.

Options :

1. # 1. True II. False
2. ¥ 1. False II. True
3. # I. False II. False
4. #® 1. True II. True

Question Number : 181 Question Id : 103435789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gamt fo Fufafed sy 98 g a1 Tad 8

1. 8T IU-iee, Ofdha Fiee & YA IR 811 & SR IH-I: S9PT gHRIE gidl ol
1. Gfha Fdterss o) ordell & ©U H teh wiesd (Rumgh) saa |

Options :

1. % [ gl I TTerd
2. 1. 7ed 1. 9l
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Question Number : 182 Question Id : 103435790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Circle Inspectors thoroughly inspect all the police stations and outposts including guards in his/her circle:
Options :

1. # once a year

2. ¥ twice a year

3. % thrice a year

4. ¥ quarterly

Question Number : 182 Question Id : 103435790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Tfha e o gaas o TR gferd YT SR Tfaal quT UeRl &1 FRIer v &
Options :

1. % YT UH IR

2./ WA IR

3. % gY A JHER

4. % IARYSH

Question Number : 183 Question Id : 103435791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Each Circle Inspector keeps a weekly diary in , Schedule XL (A) (Part I) written in duplicate, the original being sent to the
Superintendent of Police at the end of the week.

Options :

1. # Form No. 100
2. % Form No. 101
3. % Form No. 108
4. # Form No. 801

Question Number : 183 Question Id : 103435791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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& ofd & gfery sreflerd & Uy Ul STl g |

Options :

1. % JUFF. 100
2. % JUFF. 101
3. ¢ JUF 9. 108
4. % YU ¥. 801



Question Number : 184 Question Id : 103435792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a valid part of documentation of a Circle Inspector?
Options :

1. ¥ Inspector's monthly diary

2. % Inspector's weekly diary

3. # Register of receipt of general diaries

4. % Inspector's dote book

Question Number : 184 Question Id : 103435792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed & 9 o 91, idhe Flers & Sifieielies ol &1 44 YRl 62
Options :

1. ¢ (Rt ot Tl St
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Question Number : 185 Question Id : 103435793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is sent to the Superintendent of Police's office at the end of every year and is destroyed after three years?
Options :

1. % File of dote diary

2. ¥ File of mufassil diary

3. ® File of weekly diary

4. ® File of main diary

Question Number : 185 Question Id : 103435793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

PR & & frd, vdie oy & ofd 3 g arerd 3 Brated B AT STl & SR d a¥ 3 2T T8 R T e &
Options :

1. % Sl SRRI 31 BIsd

2. ¢ JHIRId SRR &1 BIgd

3. % Ydified SR &l BIgd

4. % T SR Dl BId

Question Number : 186 Question Id : 103435794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Officer in charge of a police station is defined in the Criminal Procedure Code:
Options :

1. *® Act V of 1866

2. % ActV of 1868

3. % Act V of 1898

4. % ActV of 1968

Question Number : 186 Question Id : 103435794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e U & YR SRIBRT &1 SIToRTIY Ufsha digar & forg ymT & urikutid fasan ma &:
Options :

1. % 1866 1 UFATH v

2. % 1868 BT AT V

3. ¥ 1898 1 JHfUfAgH v

4. % 1968 T AfUFATH v

Question Number : 187 Question Id : 103435795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Prevention of and maintenance of are major functions of the police.
Options :

1. # crime, FIR registers

2. % crime, documents

3. #* law, records

4. ¥ crime, public order

Question Number : 187 Question Id : 103435795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI AHYUH 3R T SREUT, I & UgQ IS ¢ |
Options :
1. % 3ORTY, TH.3MT8.3(R. (FIR) IR
2. % JURTY, TXATAA
3. % P, Mg
4. URTY, HTAG (b IR

Question Number : 188 Question Id : 103435796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of the Criminal Procedure Code authorises police officers superior in rank to an officer in charge of a police station to exercise the
same powers throughout the local area to which they are appointed, as may be exercised by such officer within the limits of his/her police
station?

Options :

1. ¥ Section 551
2. # Section 55
3. % Section 51
4. % Section 550

Question Number : 188 Question Id : 103435796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ YRT 551

2. % YRT 55

3. % YRT51

4. % YRT 550

Question Number : 189 Question Id : 103435797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are true or false:

I. Surveillance in towns must be exercised by the police but in villages it must be entrusted to the village headmen and village watchmen.
II. Labour imported into Assam passes through the hands of the local agents in various recruiting areas.

Options :

1. % 1. True II False
2. # 1. False II. True
3. # 1. False II. False
4. ¥ 1. True II. True

Question Number : 189 Question Id : 103435797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4.+ 1. 98! IL. Tal

Question Number : 190 Question Id : 103435798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following forms of Schedule LIX (Part II) is each chaukidar given a Sanad? This sanad stands in the place of the service sheet
and becomes a record of his or her appointment and conduct, good and bad.

Options :

1. ¥ Form No. 5
2. % Form No. 2
3. % Form No. 3
4. # Form No. 4

Question Number : 190 Question Id : 103435798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

.Y Juad. 5
2. % UUA Y. 2
3. % UUA Y. 3
4. % YU Y. 4

Question Number : 191 Question Id : 103435799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following are the orders of Government in regard to rewards to chaukidars, except one:
Options :

1. # Information leading to the prevention or detection of crime

2. ® Seizure or recovery of stolen property

3. # Arrest of offenders or absconders



4. ¥ Pursual of higher qualification

Question Number : 191 Question Id : 103435799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % TR TS AT T STt a1 agelt

3. % SURIEYT T HNST bl FRTKIRI

4. ¢ IR FRIef UTed BT

Question Number : 192 Question Id : 103435800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Police officers and superintendents identify special scrutiny areas and classes of crime to concentrate their energies on the basis of:
Options :

1. ¥ Statistics

2. % Maps

3. % Diaries

4. ¥ Reports

Question Number : 192 Question Id : 103435800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. ® yfdde

Question Number : 193 Question Id : 103435801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Police department protects the following rights during day-to-day functioning of scientific investigations.
Options :

1. ¥ Human rights

2. % Natural rights

3. # Animal rights

4. ® Female rights

Question Number : 193 Question Id : 103435801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Hq 3MfIPR

2. % UThidd JHUBR

3. % S SYPR

4. % Hige fYBPR

Question Number : 194 Question Id : 103435802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the most serious, frequent and common grievances against the police in India is:
Options :

1. ¥ non-registration of the First Information Report

2. # registration of the First Information Report

3. # non-registration of the Vigilance Report by chaukidar

4. % registration of the Vigilance Report by chaukidar



Question Number : 194 Question Id : 103435802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 195 Question Id : 103435803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The division is responsible for response, relief and preparedness for natural calamities and man-made disasters.
Options :

1. # border management

2. % finance

3. * administration

4. ¥ disaster management

Question Number : 195 Question Id : 103435803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 196 Question Id : 103435804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of the border is an important constituent of maintaining vigilance along the border.
Options :
1. ¥ Fencing and flood lighting
2. % Private detective-based monitoring
3. % CCTV shooting

4. % Highly qualified manpower forces

Question Number : 196 Question Id : 103435804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 197 Question Id : 103435805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Police lays great emphasis on fair recording of complaints. The tendency of non-registration of cases or minimisation of crime is required to be
viewed seriously. In these situations, which of the following departments plays an important role?

Options :

1. ¥ Vigilance department

2. # Disaster management department
3. % Forest department

4. ¥ Border management department

Question Number : 197 Question Id : 103435805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ qaddl fqunT
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Question Number : 198 Question Id : 103435806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are true or false:

I. Private detective agencies or private investigators in India may not have government approval. But, the report and proof given by them are
100% legally valid.
II. Private detective agencies receive full government protection.

Options :

1. ¥ 1. True II. False
2. # 1. False II. True
3. # I. False II. False
4. % 1. True II. True

Question Number : 198 Question Id : 103435806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 199 Question Id : 103435807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct statement about private detectives?
Options :

1. # The fees of a private detective agency are very high.

2. ¥ The work of a private detective agency is completely confidential.
3. # Private detective agencies work only for the government.

4. % Private detective agencies work only for celebrities.

Question Number : 199 Question Id : 103435807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 200 Question Id : 103435808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which scheme are women police officers posted in beats with a view to encouraging women to come forward and share their problems
with women police officials?

Options :

1. ® Parimargen



2. % Parivartan
3. % Pratha

4. % Punervasan

Question Number : 200 Question Id : 103435808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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